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Ex. I In the following alphabet series, which letter is eighth to the left of sixteenth
letter from the right end 7
A BCDETVFOGHIJRETLM
N OPQGQRSTUVWIXTYTZ
la} B ih1 8 {ch C {dl H e} X

Sol. ~Counting from the right end of the given alphabet series i.c., from Z, the
gixteenth letter isa K. Counting from K towards the left, the sighth letter is
. Hence, the answer is {c).

Ex. 2 If the fnll'nrwing alphabet series is written in the reverse order, which letter
will be fifth to the left of the fourteenth letter from the left ?
A B CDEVFPFGHIJHKTLM
N OPQERSETUDVWXYZ
fa) R (B) 1 8 (diH Vv
Sol. The new alphabet series obtained after reversing the order of alphabetadis *
I YX NV IETSERGQPON
ML KEJIHGFEDT CTB A

Counting from the left end in the above series ie., from%, the fourteenth
letter is M.

Counting from M towarda the left, the fifth letter i R.
Hence, the answer i3 {a),
Ex. 3 How many I's are there in the following series which are immediately followed
by W but not immediately preceded by K7
KDCWEDWNEGDWWDHEKVDWIZIDW
{m) One ih) Two () Three (d) Four (e} Nil
Bol. Clearly, Vs satisfying the given conditions can be marked as under :
HDCWKD"-“'NKG@WWDHK\?I:I_)_JWZE:I]W
Hence, the answer is ().
| EXERCISE 106G |
Directions : Each of the following questions is based on the following
alphabet series.
A BCDETFGHIJEKLM
NOPQRGSTUVWXYZ
1. Which letter is exactly midway between H and S in the given alphabet ?

{a) L by M (e} N d) O (e} No such letter
(B.B.LP.O, 1994)
2. In the English alphabet, which letter will be to the immediate laft of M 7
{a) N b L ) O ) K {e) None of these
3. Which letter is sixteenth to the right of the letter which is fourth to the Ieft of 17
ix) 8§ T ) U (d) V ey Y
4. Which alphabet comes immediately before the sixth slphabet from the left
extreme of the given alphabets 7 (L.LC. 1964)

() E {0 F c) G di U ) V
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5.

10.

13.

4.

15.

16.

17.

18.

Reasoning
Which letter ia the seventh to the right of the thirteenth letter from your left 7
{a) § (T ey U @) v (2} None of these

(Bank P.0O. 1893)

Which letter will be the sixth to the right of the eleventh letter from the right
end of the alphabet 7

fa} K by Vv {eh o ) U {e) None of these
Which letter is seventh to the right of the sighteenth letter from the right end
of the alphabet ? (B.E.RB. 1985)
fa) K (& O ic) P d) R (e) Mome of thess

If the above alphabet are divided in two equal halves — from A to M and N to

Z, which letter in the lnter half would be corresponding to the letter J 7

) Q v e X id) W le) None of these
{Bank P.O. 1998)

Which letter is midway betwae'n 22nd Ietter from the left and 21st letter from

the right ? {Bank P.0, 1095)

fa) L b} 1 (e} O id) P {e) Nopbe of these

If the above alphabet is written in the reverse arder, which will be the eighth

letter to the right sf 07 '

{a) F B G fc) V d) W {¢) None of these

If the ahove alphabets were written in the reverse order, which will be the fifth

letter to the left of the ninth letter from the night 7

fa) P WNT D 7N @ v (&) M

If the given alphabet is arranged in reversa order, which letter will be the eighth

letter to the left of the seventh letter counting from the right end 7

(@) N b O el P ) q ie) None of these
(Bank P.0O. 1863)

If the above alphabet are writlen in the reverse order, which letter will be

twelfth to the left of the mixteenth letter from your left 7

o) D, v (c) W {d) X (e) None of these

Hﬂemmmﬂhﬁem:nwntEDmamnr&r which of the following

will be the seventh letter to the left of eighth letter from your right 7

) L (b M e} O oy P {e) None of these
= (Bank P.O. 1985)
Whieh letter should be ninth letter to the left of ninth letter from the right, if
the first half of the given alphabet is reversed 7 {LLT.1. 1983)
iz) D b E le) F {d) 1 (2) None of thess

If every alternate letter starting from B is deleted from the given alphabet,
which of the following will be the tenth letter from the right end ?
) G ik D e) q d) H ie) None of these
{Bank P.0. 1985)
Write the above English alphabet in reverse order. First cancel every seecond
letter and then select that letter which divides the remaining letters of the
alphabet in two squal parts. This letter is :
fa) L (b M c) N id) P {¢) None of these ~
If the letters of the given alphabet interchange positions, so that A takes the
place of 2 and Z takes the place of A: B takes the place of Y and ¥ takes the
place of B and so on, what will be the thirteenth letter from the right 7

{ar M th N {e) O id) L (e} None of these
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19.

21.

If the alphabet is written in the reverse order and every alternate letter starting
with Y is dropped, which letter will be exactly in the middle of the remaining
letters of the alphabet 7 (Bank P.0. 1896)
fa) M by N {10 d) M or O {e)} Mone of these
In the given alphabet, starting from the fifth letter from the left, if twelve letters
are written in reverse order, then which letter will be the seventh to the left of
the fourteenth letter from the right 7 (Bank P.O. 1994)
fal H (b L ic) M id) N {e) None of these
If the second half of the given alphabet is written in reverse order, which letter
will be seventh to the right of the twelfth letter from the left end 7

{a) R b s c) U {d) V (e} None of these
Which letter should be fourth to the left of twelfth letter from the right if the
second half of the given alphabet is reversed 7 (Bank P.0. 1883)
a) J by K "fe) L id) M {e) None of thege,

If the first and the second letters interchange their positions and 5m1ﬂp.rl; 1.h¢_
third and the fourth letters, the fifth and the sixth letters and 80 on, W
letter will be the seventeenth from your right 7

{a} F (b} H ey 1 ie) J {e) None of these

. If the first ten letters of the given alphabet mmtﬁ#iﬂtﬁém‘i‘em order,

which of the following letters will be the seventh to the left of the twelfth letter
from the right end 7 {Bank P.0. 1984)
(a} B {by C (e} H Ad) 1 {e) None of these

If every alternate letter starting from B of the Qveu alphabet is written in small
letters, rest all are written in capital lettere, how will the month of ‘September’

be written 7 L (Bank P.O. 1985)
{a) SEpteMbeR (b) SEptembER ic) sePTemBeR
id) SEptEMbEr e} Nene of these

If the n]mnbl letiers in thi given alphabet starting from A are written in
small and rest all in ﬂplfa] letters, which of the following will represent the

third month after July ? {Bank P.0. 1695)
{a) DCTE}BEH. (b) OCLObEr {e} oCtObEr
'fa‘.ﬂ' MTM {2} None of these

Eém}' even letter beginning from B is replaced by odd number beginning with
3, which letter/number will be the third to the right of the tenth numberdetter

counting from your right ? iBank P.0. 1996)
fad M ib) 8 (ch 11 id) 23 ie) None of these

Which letter will be sixth to the right of the third letter from left of the letter
which is exactly in the middle of the letters in the seriez given below 7

A B CDEZYXWVYQgRKST
U rFr G HIJEK M N O P A (Bank P.0. 1088)
wl F () G (ch (@) R (e} None of these

Which is the letter as far from the first letter of the alphabet given below as
the letter C is from the letter midway between K and R in ‘QUICKSILVER' ?

{a) C b D (e) F (e} o ey V
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How many A's arc there in the following series which are immediately followed
by B as well as immediately preceded by Z ? (Bank P.O. 1863)
AMBEZANAABZABAZBAPZABAZATB
{m) Nil (b) One {e) Two id} Three (&) More than three
31. In the following list of letters, how many (s are followed by @'s but not preceded
by D's ? (C.B.L 1993)
DOQODQODODQDOQDSDQFP
0QDESSSDOQOQDOQDDDOGQ
a) 0 ) 1 () 2 d) 3
32. How many T's are there in the following sequence which are immediately pre-
ceded by P but not immediately followed by § 7 (Bank P.0. 1985)
ETPQTBPTRPTEBRPETQPTRPTMPFTS
() Mone (b) One {e) Two {d) Three {e) None of these
33. In the following series, count each N which is immediately followed by X but X is
not immediately followed by T. How many such N's are there 7 ' (R.B.. 1980)
N;NTQMHXTH]{HIC NQMNNXQNXTXNAMXN
X
(@) 2 (b) 4 (c) B (d) 7. e 9o
4. In the following lettar sequence, how many n's are followed by m but not preceded
by h ? {8.8.C. 19886)
agrhitombeomlbusyamherh
nmgfehnmeenmwganmbhlhb
{a) 4 i) 5 {c} 8 (d) 7
wmtwﬂmuuwswmwmﬂmmm
answer the questions that follow : {Hotel Management, 1992)
HI}Y_&H,WH!QPDGRTBLEVEGUF
35. Which is the only letter that occurs twice ?

o IS W B0 E () M (d) 8
36. Which two neighbours in the given arrangement are farthest in the alphabetical
“order 7
(@) B and Q (6) D and Y {c) Uand F {d) V and E

37, W'hu:h letter has the same neighbours as in the alphabetical order although
they have changed places ?
(a) M (B) N {e) O ) P

38. Which three letters have the same distance as they have in the alphabetical
order although they have changed places ?
(z) HMP (b) NQZ (c) QOE (d) YLF

ANSWERS
L. {e) : There are ten letters between H and 8 and as such, there is no letter which lies
exactly in the middle.
2. (b) : Clearly, L is the letter to the immediate left of M.
8. () : Clearly, the fourth letter to the lefl of I iz E. The sixteenth letter to the right of E
is U,
4. (a) : The sixth letter fram the left is F. E comes immedintely before F,
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B. (b} : Counting from the left Le., A in the given alphabet, the thirteenth letter is M. Counting
from M towsrds the right, the seventh letter is T.
6. (&) : Counting from the right in the given alphabet series i.e., Z, the eleventh letter ia P.
The sixth letter to the right of P is V
7.ich: ;ZSuuntjngIﬂ*m the right in the given alphabei series ie, from Z, the eighteenth
etter ia L
The seventh letter to the rght of | is P.
8. () 1 J is the tenth letter in the first half
The tenth letter in the later half is W,
8. (e} : 22nd letter from the left iz V. 21st lotter from the right is F.
The letter midway between F and Vis N.
10. (5} : The new alphabet series is : U glatnd!
ZYXWYUTBERQEP
MLHJ[I{GFEDCB#
Clearly, the vighth lstter to the right of O

1L (8) : The new alphabet series is.: aE T
ZYXWVYUTSRQPON
MLEKJIHGFEDCEBA

The ninth letter from the right is 1.
The fifth letter to the left of [ ia N.
12. {8} : The new lel':.nhit series is ﬂlﬁwn in Selutien 1L
Counting from the right, the seventh lottat i G
The eighth letter to the left of G s 0. |
13. e} : The new alphabet geries 8 as shown in Selu
The sixteenth letter fram the 1«.&45
Counting from K towards the Jeft, the iwelfth lotter is W,
14. (c) : The new alphabet lemlll #*ﬂ:lhl Solution 11,
The eighth lester from the right ia 8.
'I"htmth}&terﬁ flmeﬂam s O

1B. (B} :

18. {a) : Thanﬂ alphabet seriea is :
ACEGIEREMOQSUWY
The tenth letter from the right is G.
17. (c) : The new alphabet seriea-ia :

ZTIXIWVUTERQPON
MLEJIHGFEDCE BA

Cancelling every second letter, the above series becomes
JHFDE

ZXYTRPNL

The middle letter is [N, f

18 {a} : The new alphabet series is :
ZYXWYUTSRQPON
MLEJIBGFEDCEA

Be

Counting from the right in the sbove serie= fe,, A, the thirteenth letter iz M.




19, ib) : Same as Solution 17.

20. (e} : The new alphahel series is
ABCDPONMLEKUJIH
GFEQRSTUVYWIYZ

The fourteenth letter from the right is H.

i8
The seventh letter to the left of H is O.
Z1.ic) ¢ The new alphabel series is :
ARBRCDEFGHIJKL
ZYXWYUTSRQPO
The twelfth letter from the left is L.
The seventh letter to the right of L is UL
22, (5} : The new alphabet series is as shown in Selution 21.
The twelfth letter from the right is Y.
Thafuu:th'lﬂﬂertnthehﬂf.ﬁ‘flix.
28 {c) : The new alphabet series is
BADCFEH®IILEKN
MPORQTSEVUIXWEY

M
N

ﬁemth!qﬂwfmmﬂmnghhul
24. 1b) : Thena-;lph.ht
4 TH E:FE[ICBAELH
HGPQEHTU\FWJLYE

ﬂmlﬂ!ﬂhhtmﬁmthen;ht;gfg
The seventh letter to the left of D i C.

25, (d): The new alphabet seriea is : |
AthEthl"‘jﬁT}{
nﬂpQrﬁ&UvFIYa

Clearly 'SE.PTEHB& Jrﬂ be written s ‘SEptEMBEr.

26. (d) : The new alphdhlmu;
aBeDeFgEHIiJkLm
anPﬂEiTqu?[yZ
mm&aﬁer.rulyumber

Clearly, 'DCTOBER' will be written as ‘ocToBeR'.
ﬂ;’__jﬁ_’ﬁ*’ﬂﬁmw series is :
A 3C b6 ET7T G35 1 11EKE®nEM
15017 Q 19521 U 23 W25 Y 27
Counting from the right, the tenth character is Q.
The third charncter to the right of Q is 21.

8. (b) ThﬂluLzrmﬂmrnjddlanfthtgivmuman Ththlzdiamrmthnld'taf'r
is Q.

The sixth letier to the right of @ is G.

29 (d} : The letter midway between K and R in ‘QUICKSILVER' is L. In the alphabet, L is
the ninth letter after C. Similarly, J is the ninth letter from the first letter of the
alphabet, which 18 A

3.): AMBZANAABEZ[A|BAZEAPEZ[ABAZ[A]B

8L.i): DOQODQODODQDOQDSDQP[0]
QDS sspoqoJ]apoqDDDOQ
s2.¢: STPQTSP[TIRPTSRPSTQPE[MRPTMPTS
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33, (b) ¢

34. (b) :

35, la) :
38. (b):

37. (d)

B8, (d)

NIXINTQMNXTMXE[N|]JXCcNQM
NNJXQNXTXNAMX[NXM

ag rhtifmbemmlb uwvpmh
hnmgfnhnmncmqunmm b

Clearly, B occurs twice.

Clearly, D and Y are neighbours in the given series and are separated by the max-
imum number of letters e, 20 in the English alphabet.

P has O and @ as its neighbours in the given series as well as in the English

alphabet. ;
There are 12 letters between L and Y and 5 letters between F and L in the given
series ag well as in the Englieh alphabet.

Ex. 1.

Bol.

Ex. 2.

Sol.

Ex. 3.

Note :

TYPE 5 : WORD FORMATION

Select the combination of numbers so that letters arranged accordingly will
form a meaningful word,

V.A R STE

TeZ2dh 4 6 6
()2,3,1.6,4,5 (5)4,5,2,3,1,6 (c)6,3,4,6 21 (d)8 24,561
Clearly, the given letters, when arranged in the urdl!rl 5 2 3 1,6 form
the word ‘STARVE" Hﬁnua.. the answer is ().
If it is possible to make a meaningful word with the second, the sixth, the
ninth and the twelfth letters of the werd 'GQNTRIBUTIDI"I‘ which of the
following will be the last letter of that word 7 If more than one such words
can be made, mveMaathemwerﬁndﬂ‘nnmh word is there, give X as
the answer.
la) N (b1 )T d) M e} X
The second, sixth, mnth and twelfth letters of the word ‘CONTRIBUTION
are©; I, T and N\ Clearly, only one word can be formed using these letters,
which is INTO.
The last letter in INTO is O.
Hence, the answer is (b).
Choose one word out of the given alternatives, which cannot be formed from
the letters of the word CONSULTATION.
{z) CONSTANT (b) NATION {c} SALUTE (d) STATION
Carefully looking at the words, we find that the word ‘CONSULTATION
dees not contain the letter E. So, the word ‘SALUTE’ cannot be formed,
Hence, the answer is (c).
In such type of questions, remember that each letter in the given word is to
be used only once,

| EXERCISE 10H |

Directions (Questions I to 40) : In each of the following questions, a group
of letters is given which are numbered 1, 2, 3, 4, 5§ and 6. Below are given
four alternatives containing combinations of these numbers, Select that com-
bination of numbers so that letters arranged accordingly, form a meaningful

waord.
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5)4.2,5,3,1
)26, 1,4,5, 3
5)1,3,2,6,4,5
(by 2, 3, :E, :4, 81
mma;Laz
16)'6, 4, 8, 5, 2, 1
(b) 1,2, 4,5, 6,8
i) 5 3,4, 1,2

)5 64,132
b 8, 3,56, 2 41
)3, 1,6,4,5, 2

by 2, 3,6 4,61

613, 2,4,6,5. 1

, 8 (816, 1,6.3,4.2

i} 4, 3,21, 56

el d4,3,6,6,1, 2

fch B, 8,5 1,4, 2

(e}4,6 2,5 3.1

)5, 2,1, 4,8, 8

fe} 3, 5,2 4 6.1

)8, 53 2 4.1

) 3, 2, 4,5, 1

ic) 4,658 2 3,1

() 3,56, 4,1, 2

14,586, 31,2

e} 6, 3, 2, 4,6, 1

() 4,3,5,1.86 2

fc13.1,6,5, 2, 4

Reasoning

(Railways, 1985)
@) 5,3, 21,4

d) 6,32 1,45
) 6,38 1,5 42
() 8,528 14
(d) 2,5, 1,438
)6, 4,3 26,1
d) 3, 24, 1,85
{d) 4,5, 3 21

id) 523,16 4
(d) 2 584,186
d) 21,86 3,65 4
(d) 3,5 2,64, 1
d) 5,3 24,861

5,3 1, 4,26

-
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15.

17.

18.

19.

21,

27.

INLASG

123 466

(a6, 1,3 542 (06, 1,62 4.3
TLPNAE

12 3 46546

(@) 3,2, 54,6,1 (63,25, 4,16
ERPEDI

1 283845

(@) 1,8, 254 (521,54, 3
IPEL OC

1234 58

() 1,4,3,5,2.6 (62,5, 41,63
EMNBUE

1 2 34 586
(0)2,8,3, 4, 1,5 () 4,6,82.1,5
TN DRAE

1 23 45 ¢
(a)1,6,2 8,54 (6)8.6.24,6,1
EHRAGBSTP

1 23 4586

()5, 2 4,61, 3 (b)6,2/% 4,6, 1
TELSCA

1 2346568

) 1,2 8, 4,6, 5 ()4, 6,5 1,23
EOCDLI

1 23 456

{a) 3,2 5.4, 6.1 4 4,2 85,61
AMDENR SR

1 2 a6

(@)2, 1,5 3,46 (b)6, 4, 2,1,6,3
TIRBHG

123 45 6
@Y1,3,.2 4,65 (5)4,5,2.6,5, 1
RACET

1 23 46

@) 1,2, 3 4.6 (b)3,2,1,4,5
LAEMVER

1 23 4 8 8

(@) 1,2, 6,4, 3,5 (b)4, 2 6 5, 3,1
ERTEODFP

1 23 4 568

a) 1,3, 6 6.4,2 (12°3,1,6, 4,56

() 8,4,6,1,2,5
(c)4,5,3,6,21
m&%nma

© 38, 4,5.1.2,6
)3, 5,2 4,61
() 5,4,3,86 21
) 34,6, 1 3.6
() 5.6, 4,1, 8,2
) 3,24,586,1
)3, 4,6, 2,1, 6
4,523,861
() 5,2 3, 4,1

e)5,3,6. 4,21

(Y5, 3,6, 4, 1,2

409

d) 2, 4,586 1,5
(d) 4,6, 1,35 2
(d)4,3,21,5
(Railways, 1985)
d 4,5 1,236
(d) 1,5 %28 3
) 45, 8.6 2, 1
{d)3,4,2,1,86,5
(d) 6.5, 3,2 4,1
{d) 4. 2, 8,6,5,1
{d) 1, 6,2, 4, 5, 3
d) 3,286,541
()5, 1,2 3,4

dy8 8 1.4,2. 8

{d16,.3,6 1,4, 2
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b1 2,3,4,1,5,8 ()56, 3, 4,1,2 (46,5 3.4, 2,1

S

P T T TN

-

[

e 'm.nzﬁ

n‘*‘m=
ﬂb#um.nmmmmmm

(63,2, 4,6, 1,5 (c)4,3,2,5,1,6 (d4,65 23,1

—

}(b) 3,6,4,1,2,5 (4,386,521 (652841

D .
on
-

=
=

(5)2.5,4,86 1 (€2 681,854 43,64,25,1

§-EE~HE~"g-Rg~ P E~vg-m

Mol ofaal

—

£

(b)2,4,1,38,5,6 15,823, 1.4 (4231865

u"":_m
ml-,l:nz

-

-
L

[ﬁ?ﬂl 2,1,853 (43,6521 (021,86 4,3,5

-

B
=R
= N Huﬂ_;"ﬁ-ﬂ-mqmmﬂr‘

e

m¢53412 21,653, 4 (d4,1,235,86

E= T
ps B = g > B H'P-’F"]Ftﬂhg—'uq

-4
= o
MM (=1} I-hlp_'.ﬂ-r.

b)3,1,2,6,54 ()6,6,8 2, 1,4 (d)3,5,6 21,4
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{b}4,5,1,2,3,6 (£)4,2,3,1,6,6 (d)1, 2,5 6,3, 4

wofNeaRa arwn® ;P e~
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P
@ e

(a}3,4,6,1,2, 5 (6)4,5,3,2,6,1 (}5,6,3,4,1,2 (d)6.5,2,1, 4,3
Which one word can be formed from the following letters 7
aadefgresau {C.B.L 1983)
(a) stagnation (b} safeguard {c) pseudo-grade {d) grandson
Which one word can be formed from the following letters 7
aabcillnooort : (C.B.L 1993)
{a) collapsible (b} locomotive (c) colourfulness (d) collaboration
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43,

47.

51.

The letters of the word NUMKIFP are in disorder. If they are arranged in proper
order, the name of a vegetable is formea. What is the last letter of the word so
formed 7

(a) K (b) M () N (d) P e u .
If by arranging the letters of the word NABMODINT, the name of a game is
formed, what are the first and the last letters of the word so formed ?

@B, T 5 B, N eh N, D d) A, T ey M, T

If a meaningful word can be formed by rearranging the letters USCALA, the
first letter of the word 2o formed iz the answer. If no such word can be formed,
the answer is X.
(a) C s (e} A {a) L e) U
If it i= possible to form a word with the first, fourth, seventh and eleventh letters
in the word ‘SUPERFLUOUS', write the Erst letter of that word. Otherwise, X
is the answer, .
(a) 8 (b) L ey O (d) E (&) X
If you pick up from the following alphabet, the sixth and the fourteenth letters from
your right and then pick up the fifth and twentieth letters from your lefl. and form
nmumngfq.l] word, what is the first letter of that word.?  (Bank P.O. 1996)

"’CD FGHI J KLM

PQRSTUV WXKZ

fa) M (b) E {c) No word can be formed
(d) More than one word can be formed {e) None of these
If with the third, fourth, fifth, seventh and tenth letters of the word PERSONALITY’,
nmanmngﬁ;lwurdmfumaﬂ,thmﬁﬂtl&ttarufthewnrdmthgmwer If no
word is possible then X is the answer.
{z) O 6T TR id) 8 (e) X

- If it is possible to thake & meaningful word with the third, fifth, eighth and tenth

letters of the woﬂ ‘DISTRIBUTE', which of the following will be the third letter
ufﬁntwmﬂ?lfmsunh word can be made, give X ag the answer and if more
than one sach word can be made, give M as the answer, (Bank P.0. 1995)
(a) 5¢ k) B ) E d) X e} M

If we make a meaningful word with the first, fourth, ninth and fourteenth letters
of the word ‘'ADMINISTRATION’, which of the following will be the third letter
of that word from the right end of that word ?

{a) A (61 {ci N d} R (e} None of these

If it is possible to make a meaningful word with the second, the fifth and the
eighth letters of the word ‘"CARETAKER', which of the following will be the first
letter of that word 7 If no such word can be made, give X as the answer, If more
than one such word can be made, give M as the answer. {Bank P.O. 1984)
(o) A B E e) T d) X (e) M

A meaningful word starting with A is made from the first, the second, the fourth,
the fifth and the sixth letters of the word ‘CONTRACT. Which of the following
is the middle letter of the word ?

(@) C ih 0 ic) R (d) T (e} None of these
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B3. A meaningful word is made if we take the fivst, fourth, fifth, seventh, tenth,
' eleventh and the twelfth letters of the word ‘FELICITATIONS'. Which of the
following will be the fifth letter of that word from the right end of that word ?
{a) T by C ey N id) 1 (2) Mone of these
(O.T.L 1983)
564. If it is possible to make a meaningful word with the fourth, the eighth and the
tenth letters of the word ‘COUNTERACT', which of the following will be the
last letter of that word 7 If no such word can be made, give X as the answer.
If more than one such word can be made, give M as the answer.
(=) A (b) N ey T dy X e M
5B6. Ifit is possible to make a meaningful word with the first, the fourth, the seventh
and the eleventh letters of the word INTERPRETATION', which of the following
will be third letter of that word ? If more than one such word can be made,
give M as the answer and if no such word can be made, give X as the answer,
(@) 1 () R iy T {d) X . @M
(S.B.LP.O. 1997)
B6. If it is possible to make a meaningful word out of the seecond, the fourth, the
fifth and the eighth letters of the word ILLOGICAL' then which of the following
will be the third letter of the so formed word ? if more then one word can be
formed then gweluﬂul_war Hmmanﬁmgﬁﬂmdcanbe formed, then
give Z as the answer. (L.LC. 1994)
(a) A (b) G © O {cﬂ X (e) Z
B7. If it is possible to make a mﬂlﬂlﬂgﬁﬂwﬂmth the second, the fifth, the tenth
and the twelfth letters of the werd ‘"METROPOLITAN’, which of the following
will be the third lattarnfﬂﬂtwad 7 If no such word can be made give X as
the answer and if more than one such word can be made, give M as the answer.
(a) N bQ e) T {d) X ey M
58. Hltwwmuahlmﬂamngfulwmdmth the third, the fifth, the seventh
and the tenth letters of the word ‘PROJECTION' which of the following is the
third letter of that word ? If no such word can be made, give X as the answer.
If more than one such word can be made, give M as the answer.

{a) O B N e T d) X (e M
(Bank P.0. 1886)
59, If it is possible to meake a meaningful word with the fourth, the seventh, the
eleventh and the thirteenth letters of the word ‘CATEGORISATION' which of
the following will be the first letter of that word 7 If no such word can be mads,
give X as the answer. If more than one such word can be made, give M as the
Answer, (Bank P.0O. 1988)

{a) O (k) R ) T (dy X ey M
80, If it is possible to make a meaningful word with the first, the third, the seventh
and the ninth letters of the word SEPARATION, which of the following will be
the third letter of that word ? If no such word can be made, give X as the

answer and if more than one such word can be made, give M as the answer.
{a) O by P e T d) X (e) M
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L (b):
4. (2) :
T () :
10. ib) :
13. (c) ;
18. (a} :
18 (e):
22. (o) :
28, (b :
28. (e) :
31 (=) ;

. el

7. ib) :
40, (cl :
44 {c) :
44, (b):

45, (a) :
48. () :

47. la) ;

48. (ch:
A (b :

BO. (eh :

Bl. (e) :
B2, (d) ;

54, (B

B4, (&) !

BB, {e} ¢

B8, (<)

B7. {eh:

8. fel

ANSWERS

FRUIT 2. (b} : CHASTE 3. (d) | MAGNET
CARTON B. (b) : ENTGMA 8. (¢} : FRIEND
TACKLE 8. (c) : SUGAR B, (b) : MUSCLE
BRANCH 11. {a) ; GAMELE 12, {d) : AUTHOR
MENTAL 14. ic) : HANKER 15, {b} : SIGNAL
PLANET 17. (b} : PRIDE 18 (k) : POLICE
NUMBER 20. ic) : ARDENT 21. {b) : PHRASE
CASTLE 24, (d) : DOCILE 24. (b} : REMAND
BRIGHT 28, (d) : TRACE 27. (b) : MARVEL
DEPORT 28. (b) : THRONE 30. id) : PROJECT
ASPECT 3L {c) : NATURE 33. {a} : NOTICE

: PISTOL 86. (b1 : FAMINE 36. (b) : HANDLE
POCKET 38. (o) : MINGLE 8. (¢} : MAIDEN
LUSTRE 41. (b} FLRT

The name of the vogetable is PUMPEIN, The last letter in M.
mmmeufmemlummlq T'haruﬂlndhutlaﬂmmﬂmﬂﬂ-
respectively.

The word is CASUAL. The first letter is C

The first, fourth, seventh and eleventh letters of the word SUPERFLUOUS are 8,
E, L and 5 respectively. The word formed is LESS. The first letterie L.

The sixth and fourlesnth letters from the right are U and M respectively. The fifth
and twentieth letters from the left are E and T respsctively. Clearly, the word formed
is MUTE. So, the first letber is M,

The third, fourth, fifth, seventh and tepth letters of the word PERSONALITY are
B, 8 0, A and T respectively. The word formed 1a ROAST. So, the firet letter is R,
The third, ffth, cighth and tenth lstters of the word DISTRIBUTE are 5, R, U and
E respectively. The word formed is SURE and its third letter is R.

The first, fourth, ninth and fourteenth letters of the word ADMINISTRATION are
A 1, B and N respactivaly. The word formed is RAIN. The third letter from the right
end in A

The secondy fifth and eighth letters of the word CARETAKER are A, T and E
respectively. The words formed are EAT, ATE and TEA

The firsi, seeond, fourth, fifth and sixth letters of the word ‘CONTRACT are C, O,
T, R, A respectively. The word formed is ACTOR, in which the middle lettar ia T.

[The first, fourth, fifth, seventh, tenth, eleventh and twellth lettors of the word FELICI-

TATIONS are F, I, C, T. I, 0, N respectively. The word formed is FICTION. The ffth
letter from the right is C.

The fourth, sighth and tenth letters of the word COUNTERACT are N, A snd T
respectively. The words formed are ANT and TAN. i

The first, fourth, seventh and eleventh letters of the word INTERPRETATION »ra
I. E. K and T reapectively. The words formed are TIER, RITE and TIRE.

The second, fourth, fifth and wighth letters of the word ILLOGICAL are L, O, G, A
respectively. The words formed sre GOAL and GAOL.

The second, fifth, tenth and twelfth letters of the word METROPOLITAN =re E, O,
T and N reapectively. The words formed are NOTE and TONE.

The third. fifth, seventh and tenth letters of the word PROJECTION are O, E, T
and N respectively. The words formed are NOTE and TONE.



414

59, (e} :

fleagoning

The fourth, seventh, eleventh and thirteenth letters of the word CATEGORISATION

are E, R, T and O respectively. The words formed are TORE and ROTE.

80, (e} :

The first, third, seventh and ninth letters of the word SEPARATION are 8, P, T

and O respectively. The words formed are SPOT, POTS and TOPS.

| EXERCISE 101 |

Directions : I'n each of the following questions, find which one word can-
nol be mads from the letters of the given word.

1. CARPENTER
{m) NECTAR

2. TEACHERS
(@) REACH

3. CONSOLIDATE
{a} LENTIL

4. UNIFORMITY
{a) TINY
ja) SCALE

8. RECREATION
(a) RATION

(b)) CARPET
(5] CHAIR

(b} BLAIN

(8} TORN

{5) PADLOCK

(b) ACTION

7. SUPERIMPOSABLE

(@) SPIRE

8. COMMENTATOR
{a) TART

8. MIRACULOUS

{a) MOLAR

{a) BRAIN

TRIBUNAL

{a) LATIN

12, TEMPERAMENT
(a) METER

13. KNOWLEDGE
(a) WEDGE

10.

'-:I-lw

14.
{a) PARROT

15. REFRIGERATE
{a) REFER

16,

{a) RENAL

OBSTETRICIAN

{a}) SOBER

17.

CONTEMPORARY

PARAPHERNALIA

(b) REPTILE
(b) COMMON
(b} LOCUS

(b) BONES
(b} BRAIN

(b} PETER

(b} GODOWN
(b} COMPANY
(b) REGRET
(b) PRAISE

() TERMITE

() PAINTER {d) REFENT
(I. Tax & Central Excise, 1595)
(¢) CHEER {d) SEARCH
) CONDOLE td) DETAIL i
| _(BSG, 1994)
(e} RENT id} m
ic) PACKET H'.l DIESEL
{Assistant Grade, 1994)
l'._g] mHN (d) REFER
ey POSSIBLE (d) REPOSURE
{C.B.1. 1885)
(e} MOMENT {d) COSMOS
{e) SCLACE (d) SCAR
{8.5.C. 1992)
{c) NOBLE (d) AHSON
(e} URBAN (d} TRIBLE
(9.5.C. 1998)
i) TENTER (d) TESTER
i) KLEEN {d) GOLDEN
(Central Exciss, 1095)
{e) CARFENTER (d) PRAYER
(cy REGENERATE (d) FREE
(C.HL 18084)
(e} RAPHAEL (d) PEAR
(c) RETAIN id} SIREN
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18.

18.

21.

UNCONSCIOUS

(a) SON (b) COIN

TURBULENCE

(a) CART () BLUE

TRANQUILITY

() QUILT (b) TRINITY

INTERNATIONAL

(a) ORIENTAL  (b) TERMINAL

ORGANISATION

{a) NATION () GRANT

VARIEGATED

(@) TRAVEL (b) TRADE

DISSEMINATION

{a) INDIA () NATIONS

CREDENTIAL

(a) DENTAL (&) CREATE

REPRIMAND

{a) MAIDEN () REPAIR

COLLABORATION _

{a) BRITAIN (5) COLORATION

PROGNOSTICATION J

{a) RONTGEN  (b) START

DEPARTMENT

{a) ENTER (5) PERMIT

DISAPPOINTMENT _ n

{z) POINT (b OINTMENT
. QUESTIONNAIRE

(a) QUESTOR  (5) QUEUE

PHARMACEUTICAL

(a) PRACTICE (k) METRIC

ADULTERATION

{a) RETURN (b) RELATION

EHI.'I’IEA\FDUR

{a) DROVE (b) DEVOUR

INTELLIGENCE

(a) CANCEL {b) INCITE

THERMOLYSIS

(a) LOITER (8) LORIS-

FLEXIGERATOR

(@) TAXI (b) GREATER

CHOREOGRAPHY

(a) OGRE () PHOTOGRAPHY

CONSTITUTIONAL

(a) LOCATION  (b) TUITION

415

(8.8.0. 1994)
i) SUN {d} NOSE
(c) RENT {d) LENT

(B.8.C. 1984)
{c} TRAIN {d) TRIANGLE
{c) LATTER {d) RATITONALE

(Assistant Grade, 1984)
() RECOGNISE (d) SATAN

(c) GREAT (d) RIGVEDA

i {C.B.L 1995)

fe) II}IENTI{JN (d) ACTION

(c) TRAIN {d) CREAM
(8.8.C. 1096)

{¢) MUNDANE _(d) REMAND

{c) ROBOT {d) LEBARIN

§ {8.8.C. 1993)

{e) SPITOON {(d) ROGATION

(¢)TEMPER  {d) RENTED
(8.8.C. 1994)

{c) TENAMENT (d) POSITION

tc) QUINATE  (d) QUERIES
(C.B.1. 1885)

tc) RHEUMATIC {d) CRITICAL

{c) RETAIL {d) TOILET
(5.58.C. 1985)
{c) DROWN (d) ROUND
(c} GENTLE {d) NEGLECT
(8.5.C. 1993)
{c) LOTUS (d) SISTER
{c} LARGER d) KEROX
{C.B.1 1994)
{c} GRAPH (d) GEOGRAPHY
fc) TALENT () CONSULT
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10, ETHNOGRAPHIC
{rn) HEART
41. TRANSLOCATION

{a) TALCUM
42, SIGNIFICANT

{a) GIANT
43. GERMINATION

(o) ORNAMENT

Reasoning

{8.8.C. 18943)
(b) GEAR {c) EARTH (d) GARMENT
(b) COAL {c) START {d}) CARTON
(b) INSBIGNIA  (c) INFANT (d) NASCENT
(6) TERMINAL (¢} 1IGNITE (d} NIGER

44. TOURNAMENT

(a) NORMAN  (b) ROTTEN () MANOUEVRE  (d) MANNER
45. CORRESPONDING _

(a) DISCERN  (b) GRINDER  {c) DROOP (d) SUPERIOR
46. CHROMATOGRAPHIC

(a) PRAGMATIC (b) PHOTO (c) GOTHAM (d) MARGIN

Directions : In each of the following questions, chmunmmivhlﬂ
can be formed from the leiters of the given word.

47. CHOCOLATE

{a) TELL
48. MEASUREMENT

(a) MASTER
49, RHINOCEROS

ig) RENAL

50. RECOMMENDATION
{a) MEDIATE

(L Tax tw Excise, 1004)
() HEALTH {c) LATE {d) COOLER
(B.8.C. 1995)
(b) MANTLE {(e) SUMMIT {(d) ASSURE
; _ (Central Excise, 1994)
(b) HIND (c) SURE (d) HORSE

(b)MEDICINE  (c) REMINDER  (d) COMMUNICATE

51. QUINTESSENCE
(a) SCOT
52. VENTURESOME

(@) M‘RUH

(b) QUOTE () QUITE (d) ESTEEM
; (L Tax, 1984)
(5) SERMON {c) TRAVERSER  (d) SEVENTEEN

53. CONSTANTINOPLE

{a) CONTINUE  (b) CONSCIENCE (¢) CONSTANCE (d) CONTENT
ANSWERS

Ly 2200 3@ 4@ B.{c) Bid) 7. B B
0. ta) 1L (&) 12 () 18 (k) 14ic) 1B i) 16 (b 1T (B} 1B {d)
19. (a) 20.(d)- 21.(3) 2% () 23 (a) 24.(d) 25 () 24 () -27.(a)
28. (n) .20.(h) 80.(c) QL.(b) 92.(d) 33, (a) B4.(c) 35 (a) 36 ()
7.7 S8 (h) 39. () 40.(d) 4l.ia) 42 (d) 48 (b)) 44 () 45 ()
46. (d)  4T.(c) 48.(a) 48 {d) B0.{a) 5L () 52 (b) B3 (a)




‘11. NUMBER, RANKING & TIME SEQUENCE TEST

TYPE 1 : NUMBER TEST

In this type of guestions, generally you are given a long series of numbers. The
candidate is required to find out how many times a number satisfying the conditions,
specified in the question, oceurs.

Ex. 1.

Sol.

Ex. 2.

Ex 3.

| ILLUSTRATIVE EXAMPLES |

How many 5% are there in the following sequence which are immediataly
followed by 3 but not immediately preceded by 77 (Bank P.0Q. 1997)
8953253855688 7335775365335738

() One (&) Two e Three {d) Four (e) Hlﬂ'refhﬂn'fmr'
As you know, 8 number which comes after a given number is said to follow
it while the ome which comes before the given number precedes it.

Thus, the numbers satisfying the given conditions, can be shown as follows
80[5]32[5]3866687335795486 33_57'33

Clearly, there are three such numbers. Hence, ‘answer is (c).

How many even numbers are there in ﬂle fellowing sequence of numbers
which are immediately follow#d by an odd number as well as immediately

preceded by an even qy.mhur.i_'_ . (Bank P.0. 1985)
B6T6ED32758422855228119
ig) One b} Thres i} Five id) Six {e) Mone of these

As you know, numbers divisible by 2 are called even while those not divisible
her are called add numbers.
us. the mambers satisfying the given conditions, can be shown ss follows ;
HIETEPEHHE-;Z[{] ¥6522/8 119
four such numbers. Hence, the answer is ().
Inﬂm zeries,
541‘223'?42]533521'?1413235
how many pairs of successive numbers have a difference of 2 each 7
{a) 4 b 5 {e} B (d) 7
(C.AT. 1997)

Clearly, the pairs of successive numbers having a difference of 2 can be shown
as follows :

[64]12287[42]1 53][86]21714[T3]2[3F]

Thus, there are six such pairs. Hence, the answer is {c),

. How many B's are there in the following number series whith are exactly

divigible by its immediately preceding and also divisible by immediately
succeeding numbers 7

B2451T7T284842282698454832843183
(a) 1 (b) 2 )3 (al) 4 (e} None of these
417




418 Reasoning

Sol. Clearly, the numbers satisfying the given conditions can be shown as follows :
8245172[8 4[8]422[B]2698454832([F 43183
Thus, there are four such B's, Hence the answer is (d).

| EXERCISE 11A |

1. Which iz the third number to the left of the number which is exactly in the
middle of the following sequence of numbers 7
1234567802468 7T531 9876854321

(x) 3 (h) 4 {e) 5 id) 6 e} 7

2. How many 2's are there in the following sequence which are neither preceded
by 6 nor immediately followed by 8 ? (5. B.LP.O. 1884)
9366395937801 6396389
ia) One (b)) Two ie) Threa {(d) Four (e} None of these

3. Count each 7 which is not immediately preceded by 5 but is immediately followed
by either 2 or 3. How many such 7's are there 7 {5.5.C. 1983)
§T265T73837328572 73482678
(a) 2 R ¥ B | () 4 (dy 5

4. How many 6's are there in the following series of numbers which are preceded
by 7 but not immediately followed by & ? (Railways, 1984)
6TOG69T6BTETB604677696767
(a) One (b) Two (c) Three (d) Four

5. How many T's are there in the following series which are not immediately fol-
lowed by 3 but immediately preceded by 87 (L.LC. 1994)
BO9RT62263260T7T328F2778737794
(a) 10 (b) 3 (ch2 {d) 0 (e} None of these

6. Count each 1 in the following sequence of numbers that is immediately followed
by 2, if 2 i8 not-immediately followed by 3. How many such 1's are there 7
121885123621 26145112412321752125
(a) 2 (TR (c} 5 () 7 {e) 9

7. How many T's are there in the following series which are preceded by 8 which

w0 is notipreceded by 8 7 (B.S.R.B. 1985)

BTETBEBTHEG6TO9TE167T.TBBB69TE687
fa) Nil {b) One {e) Two (d) Three {e) None of these

8, In the following list of numerals, how many 2's are followed by 1's but not
preceded by 4 7 (C.B.L 1993)
421214211244412212144214212124142124146
(o) Two (b} Three (e} Four () Five

Directions (Questions 9-10) : Study the number series given below and
answer the guestions that follow : (M.B.A. 1888)
TEO9TE53428972459297647

9. How many 7's are preceded by 9 and followed by 6 ?

{a) 2 (b) 3 e) 4 id) 5 {e) None of these
10. Which figures have equal frequency ?
(o} 253 {(h) 245 {c) 376 (cf) B65 (e} None of these
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11. How many 8's are there in the following number sequence which are imme-

dintely preceded by 8 but not immediately followed by 4 7 (H.5. B, 1088)
FE432963164964215967214T749642
(g} One {b) Two (e} Three {cd) Four =] More than four

12. In the following series of numbers. find oul how many times, 1, 3 and 7 have
appeared together, 7 being in the middle and 1 and 3 on either gide of 7 7

2073173 TTIZRYITHE&ETIBTITITAROSE

) 3 By 4 fc) &
(o} More than & e} None of these (S.R.LP.O. 1981)

13. In the series,
641228742153 8621T71413286
how many pairs of alternate namberz have a difference of 2 7 (CAT. 1987)
{a) One (b) Twa te) Three {d) Four

14. How many even numbers are there in the following sequence of numbers whm]l
are immediately followed by an odd number as well as immedintely preceded

by an even number ¥ _ {Bank B.0). 1696)

8676RB327T03499306228119

fa) One {h} Thres fc) Five (d) Six _Le) None of these

Directions (Questions 15 to I7) @ Study the foﬂaww uulla- Sequence
and enswer the questions given below it : (Bank P.0. 1995)

514739857268158638523434956

16, How many odd numbers are there in 'Itl_ie equence which are immediately
followed by an odd number ?
() 1 by 2 {ch & ) 4 (e} More than-4

16. How many even nombers are there in the sequence which are tmmcd:aml}r
preceded by an odd number bat immediately followed by an even number 7
{a) 1 iBY 2 (i) ;i d) 4 te) More than 4

17. How many edd numbers are there in the sequence which are immediately preceded
and alse immediately followed by an even number 7
fa)dl by i) 3 i) 4 ie) More than 4

18. In the Nllﬂ-'ilu gories, how many such odd numbers are there which are
divizible h’!‘ 2 or 5, then followed by odd numbers and then also followed by

even numhbers 7 (S.B1LP.O, 1985)
:!.2. 19, 21, 3, 26, 18, 35, 20, 22, 21, 45, 456, 47, 48, 9, 50, b2, b4, 55, 56
ferd Mil B One (e} Twa {d) Three (e) None of theze

18. In the following number sequence, how many such even numbers are there
which are exactly divigible by its immediate preceding number but not exactly

divigible by its immediate following number 7 {Bank P.0. 1994)
3841572834893 09421582
{a) One (b} Two (e} Three {d) Four (e} None of these

20. Nitin was counting down from 32, Bumit was counting upwards the numbers
starting from 1 and he was calling out only the odd numbers. What eommon
number will they call out at the same time if they were calling out at the same
speed 7 (LLC. 1994)
fa) 19 ib) 21 le) 22
) They will not call out the same number () None of these
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21.

27.

a1

Reasoning

If the first and second digits in the sequence 5981327 4 3 8 are interchanged,
also the third and fourth digits, the fifth and sixth digits and so on, which digit
would be the seventh counting to your left ? (Bank P.O. 199T)
fg) 1 () 4 () 7 d) 8 ie} None of these
If the position of the first and the sixth digits of the sequence of numbers
8903214675 are interchanged, the second and the seventh and so on,
which number would be seventh from the right end ? (8.B.1.P.O. 1982)
{a) 2 {b) B (e} 7 (d) 8 {e) 9

The letters L, M, N, O, P, Q, R, S and T in their order are substituted by nine
integers 1 to 9 but not in that order. 4 is assigned to P. The difference between
P and T is 5. The difference between N and T is 3. What is the integer assigned
to N7 (LA, 1584)
() 4 ib) b5 ic) & (dy 7

Thirty six vehicles are parked in a parking lot in a single row. A,ﬂ;arth&ﬁm
car, there is one scooter. After the second car, there are two scooters:, a\ﬂu the
third car, there are three scooters and so on. Work out the number of scoaters
in the second half of the row. m.&.llﬂﬂ
{a) 10 (b) 12 ' (c) 15 {d) 17 ;

In the following sequence of instructions, 1 stands for Hun, 2 stands for Stop,
3 stands for Go, 4 stands for Sit and 5 mﬂdnfur?o‘ﬂﬂiﬂm sequence were
continued, which instruetion will come next ?

44545345314531245453453

(@) Wait  (b) Sit (€)Go . (e Stop ) Run
In a school, the following codes were used during physical exercize. ‘1' means
‘start walking’, ‘2’ means ‘bupatandhu" ‘3’ means ‘start running &t the same

spot’, ‘4’ means ‘sit down'. How many times will a student who performs the
following sequence without error from the beginning to the end have to sit down ?
123423144322124314412
(a) 2. % (b3 (c) 4 (d) 5 {e} None of these
lfthnnumharaﬁmm 1 to 45 which are exactly divisible by 3 are arranged in
g order, minimum numbe: being on the top, which would come at the
nmthphﬂfrﬂmtbﬂtnp? (Bank P.O. 1993)
(a) I8 () 21 (e} 24 (d) 27 (e} 30
If the numbers from 5 to B5 which are exactly divigible by 5 are arranged in
descending order, which would come at the eleventh place from the bottom*?
(a) 35 (b) 45 (c} 50 (d) 60 {e) None of these
(B.5.R.B. 1986)
How many numbers from 1 to 100 are there each of which is not only exar:t.]'.r
divigible by 4 but also has 4 as a digit 7

() 7 (b) 10 {c) 20 {d) 21 {e) More than 21
How many numbers amongst the numbers 9 to 54 are there which are exactly
divisible by 9 but not by 3 ? (Railways, 1995)
(a) B (b) & {e) & (d) Nil

How many numbers from 11 to 50 are there which are exactly divisible by 7
but not by 3 7

(a) Two {b) Four (e} Five (d) Six le} Seven
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32. A number is groater than 3 but less than B, Also, it is greater than 6 but less
than 10. The number is

a) B th) 6 te} 7 {d) 8 (e} 8
ANSWERS
1. (&) : There are 27 numbers in the given sequence.

2 (k)
8. (a):
4. (e} :
B (c):
6. (b):
T.id):
8. (c):
8. (a):
10. (d} :

11. (b} :
12. {a) :
13, (b) ;

14. (&) :
15. (&)

8o, middle number = 14th number = 8
Clearly, the third number to the left of thiz 9 is 4.

g[3]663959(3]7891639639

6726567383 326572([7]3482678
6705697[6]a7[6|7869467760957[6]3
s9B[7]622632607328[7|277877704

[A]z1384s 12352|I|2M451|3241;321752.25
B76[1]86756[7j9T6[L]6[7]7688607687
42111]1421134“151@14421421[2]1241i2,1hgus
780[7]65342897246929[7]647

In the given unmlmmiﬁm&a.dmm u-nmimrn#hmei 5 oceurs 2
times; Emﬂ:m?mﬁhm,ﬂmimﬂﬂmim

Clearly, the frequency of 5, Emdsmthiuam&%r 2
554339.31513&12159mungsw

29?3?7133&&?13119”

We proceed by cheeki ‘between pairs of slternate numbers ie., (6,1},
(4,23, (1,2), (2,8}, EE ?;ﬁ,ﬂ (m2), 4,13, (2,5), (1,3), (5,8), (3.6), (8,2), (8,1}, (2,7), (1,1},
{7.4), (11544 l}i:sl and 1(2,6). Of these, the pairs with a difference of 2
are {42y and { .ﬂl{,.‘lmly, there are two such pairs.

s[8]ief8]98275342[Z]35522[B]119
ulim'ﬂé@nﬂE]ssﬁsaazua-tgﬁ

16 (c)i614789857(2]6315[8]6385[2]243496
:11:-{&1.114?3955?2531535]33@224. [8]8

1B.(c):
18. (b} :
20. (d) :

21. (d) :
22 (e} :

£3. (c);

12, 19, 21, [3], 25, 18, 35, 20, 22, [21], 45, 46, 47, 48, 9, 50, 62, 54, 55, 56
3841572[8]34(B|e30421582

Nitin : 32 31 30 29 28 27 26 25 24 23 22 21 20...
Bumit:1 3 6 7 911131617 1921 23 25..
Clearly, both will never call eut the same number.
The new sequence becomes 8 5 18 234 78 3.
Counting to the left, the seventh number is 8.
The new sequence becomes 1 4 6 758903 2,
From the right end, the seventh number ia 7.
Pedand T-Pu5 == T=g.

T-N=3 and T=9 = N=8
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24. (c) : Let C and 8 denote car and scooter respectively.
Then, the sequence of parking is
DEESEESSEESSEEEESElSE{:SSSBSECEESSSSSC
The above sequence has been divided into two equal halves by a line.

Clearly, number of scooters in second hall of the row = 15.
25. (#) : The given sequence may be analysed as under :

4/ 45 / 453 / 4531 / 45312 / 45 [ 453 [ 453

Following the above sequence, the next number is 1 which stands for ‘Run’.
286. (¢} : Clearly, the student will have to sit down at the plsces marked by boxes :

123[@j231[ad]azei2fa]s1[dq]12
27. () : The required numbars in ascending order are :
3, 6, 9, 12, 15, 18, 21, 24, 27, 30, 33, 36, 39, 42, 45.
If the minimum number (e, 3 is considered to be at the top, the minth number from
the top is 27.
28. (e} : The required numbers in descending order are :
#5, B0, 75, 70, 85, B0, 55, 5O, 45, 40, 35, 30, 26, 20, 15, 10, &
The eleventh number from the bottom is 55.

29. (a) : The numbers from 1 to 100 which are exactly divisible by 4 1284 8, 12. 16, 20, 24,
28, 32, 36, 40, 44, 48, 52, 86, 60, 64, 68, 72, 76, 8O, B4, BA, 82, 86, 100..
ButMnuﬂhMﬂhﬂlulﬂd]glt i

The required numbers are 4, 24, 40, 44, 48, B4, 84, ﬁelﬂmxthnm are 7 such
numben

30. (d} : Any number divisible by 9 is also divisible by 3.

81. (&) : The numbers from 11 to 50, which Hldl‘lﬂll—h Tare 14, 21, 28, 45, 42, 49. But
out of these, 21 and 42 are divisible by 3.

.. The required numbers are 14, 28, Sﬁh 49.
Clmwly, there are four nudtmben.

32. (¢} : According te first condition, the mumber is greater than 3 but less than 8. Such
numbers are 4§, 5,7 ﬁ,‘? :

According to the Md 'ﬁhdmun, the number is greater than & but less than 10.
Such numbers are 7, 8, 9
M@hﬂhr&fmﬂmmbarmﬂmnumhﬂuﬂﬂﬁnngbﬁththﬂabﬂmmdmmu T

TYPE 2 : RANKING TEST
In this, generally the ranks of a person both from the top and from the bottom

are mentioned and the total number of persons is asked. However, somatimes this
question i put in the form of a puzzle of interchanging seats by two persons.

| ILLUSTRATIVE EXAMPLES |

Ex. 1. Rahul ranked ninth from the top and thirty eighth from the bottom in a
class. How many students are there in the class 7 (MLB.A. 19988)
{a) 45 {b) 46 ic) 47 (d) 48
Bol. Clearly, the whole class consists of ;
() 8 students who have a rank higher than Rahul;
(&) Rahul; and
(iii) 37 students who have rank lower than Rahul.
te., (B+14+37) =46 students.
Hence, the answer is (b).
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Ex. 2. In a row of 21 girls, when Monika was shifted by four places towards the

right, she became 12th from the left end. What was her earlier position from
the right end of the row ?

(a) Sth (b} 10th {c) 11th id) 12th (e} 14th
The change of place by Monika can be shown as under :
123453"?391&111‘“131415151713192!]21

SR . |
Clearly, Monika's earher position was Bth from the left end and 14th from
the right end. Hence, the answer is {).

Ex. 3. In a row of boys, Deepak is seventh from the left and Madhu is twelfth from

the right. If they interchange their positions, Deepak becomes twenty-second

from the left. How many boys are there in the row ? (B.8.1LB. 1998)
{a) 19 (b) 31 {c) 33
id) Cannot be determined {2} None of these

Bol. Deepak's new position is 22nd from left. But it is the same as Madhu's earlier
position which ie 12th from the right. J
Thus, the row consists of (214 1 + 11) = 33 boys.
Hence, the answer i8 (¢),

EXERCISE 11B |

1. In a row of trees, anatﬁahﬂﬂlﬁ‘ummthﬂfindﬂﬂ!mﬂu Hnw many trees
are there in the row 7 {Assistant Grade, 1995)
{a) 8 by 9 {c) 10 , {d}i!

2. In a queue, Amrita is 10th from the front wﬁl& Mukul is 25th from behind and
Mamta is just in the middle of the two. If there be 50 persons in the queue,
what position does Mamta occupy from. the front 7 (C.ALT. 1997)
() 20th (b) 19th' ' (c?lﬂﬁh dy 1Tth

3. Raman ranks sixteenth from th!hp and forty ninth from the bottom in a class.
How many students are there in the class ? (B.E.R.B. 1988)
(e) 64 o {b) 85 {e) 66
{d) Cannot hnﬁtm:mmed {e} None of these

4. Sanjeev rm“ﬁa ﬁ\renth from the top and twenty e;ght.h from the bottom in a
class. How many students are there in the class ? (Railways, 1998)
{a) a7 (&) 36 {c) 356 (d) 34

5. Tf Atul finds that he is twelfth from the right in a line of boys and fourth from

the left, how many boys should be added to the line such that there are 28 boys
in the line ? {L.LC. 1894}
fa) 12 (b) 13 (c) 14 (d) 20 (e} None of these
Manisha ranked sixteenth from the top and twenty ninth from the bottom among
those who passed an examination. Six boys did not participate in the competition
and five failed in it. How many boys were there in the class ?
{a) 40 (b) 44 (e} 50 () b5 {e) 58

(Bamk P.O. 1897)
Some boys are sitting in a row. P is sitting fourteenth from the left and Q is
seventh from the right. If there are four boys between P and @, how many boys
are there in the row 7

(a) 25 {b) 23 (cy 21 () 19 (e} None of these
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1.

11.

12.

1.

14.

18.

17.

Reasoning

Aruna ranks twelfth in a class of forty-six. What will be her rank from the lnst ?
(BS.RB. 1897)

{a) 33 ib) 34 (c) 35 (d) 37 {2} None of these

Manoj and Sachin are ranked seventh and eleventh respectively from the top

in a class of 31 students. What will be their respective ranks from the bottom
in the class ?

{a) 20th and 24th {b) 24th and 20th {c} 25th and 21st

(d) 26th and 22nd {e) None of these

Ravi is 7 ranks ahead of Sumit in a class of 39, If Sumit's rank is seventeenth
from the last, what is Ravi's rank from the start ? {R.R.B.1998)
{a) 14th (b) 16th (c) 16th {d) 1Tth

In & class of 60, where girls are twice that of boys, Kamal ranked seventeenth
from the top. If thare are 9 girls shead of Kamal, how many boys are after him.
in rank ? (B.B.R.B. I.ﬂl
{a) 3 by 7 (e} 12 {d} 23 {e) 32

In a row of ten boys, when Rohit was shifted by two places tumm;li the left, he
became seventh from the left end. What was his earlier position from the right
end of the row ? 18.8.C. 1995)

{a) First () Second (e) Fourth {d) Sixth

In a queue, Vunjrilﬁm from the front ﬂ#ﬁck is seventeenth from the
end, while Mary is in between Vijay and Jack. If Vijay be ahead of Jack and
there be 48 persons in the gueus, hut:mmpm are there between Vijay
and Mary 7 (M.B.A. 1994)

a) B by 7 i) B () 5 {g) None of these

In a row of girls, Rita and Monika occupy the ninth place from the right end

and tenth place from:the leR end, respectively. If they interchange their places,

Rﬂ.a and Monika uﬁmﬂ seventeenth place from the right and eighteenth place
from the left, respectively. How many girls are there in the row ?

{a) 256 (b 26 {c) 27

(/) Data inadequate (e) None of these (Bank P.0. 1897)

VIn a row of girls, Shilpa is eighth from the left and Reena is seventeenth from

nght If they interchange their positions, Shilpa becomes fourtzenth from
the left. How many girls are there in the row 7 (B.5.HLB. 1996)

“la) 25 (b} 27 {e) 29 (d) 32 (e} Mone of these

In a queue of children, Kashish is fifth from the left and Mona is sixth from
the right. When they interchange their places among themselves, Kashish becomes
thirteenth from the left. Then, what will be Mona's position from the right 7
(a) 4th ih) Bth {c) 14th (d} 15th

(L. Tax & Central Excise, 1995)
In a row of boya, Kapil is eighth from the right and Nikunj is twelfth from the
left. When Kapil and Nikunj interchange posgitions, Nikunj becomes twenty firat
from the left. Which of the following will be Kapil's position from the right ?
{a) Bth {6} 17th (e} 218t
{d) Cannot be determined {e) None of these (Bank P.0. 1995)
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18, Three persons A, B and C are standing in a queue. There are five' persons
between A and B and eight persons between B and C. If there be three perzons
ahead of C and 21 persons behind A, what could be the minimum number of

persons in the queue 7 (Hotel Management, 1997)
(a) 41 (h) 40 fc) 28 d) 27
ANSWERS
1. (&) : Clearly, number of trees in the row =4+ 1+ 4)=9,

2. ()

& la):
4. (d):

5. (b)

8, id):

1. i.a}

B. (e} :

8. {c):

10. {c) :

11 {c):

=

12. 16D :

o da) :

14. (b) :

Number of persons between Amrita and Muokul = 50 - (10 + 25) = 15.
Since Mamta lies in middle of these 15 persona, so Mamia's position is Bth from
Amrita ie. 18th from the front.
Cleatly, number of students in the clazs = (15 + 1 + 48) = 64,
Clearly, number of stodents in the class = (6 + 1 + 27) = 34.
Clearly, number of koys in the line =(11 + 1 + 31=18
, Number of boys to be added =28 - 15 = 13,
Number of bove who piul.ued ={16+1+28) =44
. Total number of boys in the class = 44 + 6+ 5 =55,
Numher of boye in the row
= pumber of boys I.Iplil F-l-mba-rnfhuya between P i.ndﬂf
+ number of boys inclhdﬁwﬂ and those behind Q |
=14+ 44+ T=25
Number of students behind Aruna in rank = (18 - 12)= 3.
So, Aruna is 35th from the last. ]
Nuraber of studentd behind Manoj in bk 7) = 24.
Sa, Manaj is 25th from the bettom,
Number of students behmwm in rank = (31 - 11) = 20.
So, Sachin is 21st from the bottom.
Sumit is 17th frem the last mu.?mn is 7 ranks ahead of Sumit. So, Ravi is 24th
from the last.
lytghe Hmm:l of Ravi in rank = (39 - 24) = 15.
‘80, Ravi is 16th from the nt-a.rt
mebﬂumr of boys be x, Then, number of girls = 2x,
4+E£Eﬂ or dr =860 ar x=20.
ﬂn ‘namber of boys = 20 and number of girls = 40.
Number of students behind Kamal in rank = (60 - 17) = 43.
Number of girls ahead of Kamal in rank = 9.
Number of girls behind Kamal in rank = 40 -9 = 31,
© Number of boys behind Kamal in rank = 43 - 31 = 12,
Number of boys in the row = 10.
Rohit's new position is Tth from the left or 4th from the right.
His earlier position was two places to the right of his new position ie., his earlier
position was second [rom the right,
Number of parsons between Vijay and Jack =48 - (14 + 1T) = 17,
Now, Mary lies in middle of these 17 persons ie., at the eighth position.
80, number of persons between Vijay and Mary = 7.
Since Rita and Moniks exchange places, so Rita's new position is the same as Monika's
earlier position.
This position i 17th from the right and 10th from the left.
5, Number of girls in the row = {164+ 1 + D) = 26,
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16 (e) :

18. (e} :

iT. (b}

18. {c) &

Reasoning

Since Shilpa and Eesna interchange positions, so Shilpa’s new position is the same
ns Reena's earlier position.

This position is 14th from the left (Shilpa's new position) and 17th from the right
(Reena's earlier position).

o Number of girls in the row =(13 + 1 + 18) = 30,

Since Kashish and Mona interchange places, so Kashish's new position (13th from
left) ia the same as Mona's earlier position (6th from right)

S0, number of children in the queue = (12 + 1 + 5) = 18,

Mow, Mona's new position is the same as Kashish's earlier position ie., fifth from
lefl.

-, Mona's position from the right = (18 - 4) = 14th.

: Since Kapil and Nikunj interchange places, so Nikunj's new position (21st from left)

is the same az Kapil's earlier position (Bth from right).
So, number of boys in the row =(20+ 1+ 7) =28,
MNow, Kapil's new position is the same as Nikuny's earlier position i.e., 12th frnl:g.m’t-‘.
- Kapil's position from the right =(28 - 11)=1Tth. '
Three persons A, B, C can be arrangnd in a queue in six different ways ie, ABC,
CBA, BAC, CAB, BE&. ACB. Bul since there are only 3 persons ahsad of C, 8o C
should be in front of the queue. Thus, thers are omly twnpnﬂammu
ie., CBA and CAB, We may consider the two cases as undes :
L] & a1
Case | : 1——(}1—-&&4_—“&.__._.
Clearly, number wfmlin the queue =(3 #.],+Hf1+l+14—21]—40
a 1]
Case Il : +—C Ae——B
1-—\—-—- .
LR 3
Number of persons between Aand {‘.wta T6)=12.
Clearly, number of pessonsin the queue =(3+1+2+1+21)=28,
Now, 28 < 40 Bq.'l iﬂthﬁdﬂimum number of persons in the gueue.

TYPE 3 : TIME SEQUENCE TEST

Ex. 1. Satish remembers that his brother's birthday is after fifteenth but before

Ex. 2.

" eighteenth of February whereas his sister Kajél remembers that her brother's
birthday is after sixteenth but before nineteenth of February. On which day
in February is Satish's brother's birthday ? (Bank P.O. 1896)
{a) 16th () 17th {c) 18th {d) 19th (e} None of these
According to Satish, the brother's birthday is on one of the days among 16th
and 17th February,

According to Kajal, the brother's birthday is on one of the days among 17th
and 18th February.

Clearly, Satish's brother’s birthday is on the day common to both the above
groups fe., 1Tth February.

Hence, the answer is (b).

A bus for Delhi leaves every thirty minutes from a bus stand. An enguiry
clerk told a passenger that the bus had already left ten minutes ago and the
next bus will leave at 9.356 a.m. At what time did the enguiry clerk give this
information to the passenger ?

{a) 9.10 a.m. (b) B.56 a.m. ic) 8.08 p.m.

(d) 9.05 a.m. e} 2.15 a.m,
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Sol. The next bus will leave at 9.35 a.m. This means that the previous bus had

left at %.05 a.m. But it happened ten minutes before the clerk gave the infor-
mation to the passenger.

Thus, the enquiry clerk gave the information at 9.15 a.m.
Henee, the answer is (e).

Ex. 3. If the seventh day of a month is three days earlier than Friday, what day

will it be on the nineteenth day of the month 7 (C.B.1 1884)
(a} Sundoy (b} Monday (e) Wednesday {el) Friday

Sol. As mentioned, the seventh day of the month is three davs earlier than Friday,

which is Tuesday.

So, the fourteenth day is alse Tuesday and thus, the nineteenth day is Sunday.
Hence, the answer is (al,

Ex. 4. If it was Saturday on 17th December, 1952 what will be the day on 22nd

December, 1984 7 (RLR.B. 18948}
{a) Monday (b)) Tuesday &) Wadnesday id) Sunday

Sol. Clearly, every day repeats itsell on the seventh day. Now, 17th Du: 1982-

17th Dee. 1983 is a peried of 365 days. Dividing by 7, we get 52 weeks and
one day. Thus, the 365th day will be the same as the Frut day i i, 16th Dee.
1983 is also Saturday,

Now, 16th Dec. 1983-16th Dee; 1984 is a period of 3686 days (because 1984,
being a leap year, has 28 days in February). Thus, as shawn above, 14th
Dec. 1984 will be the same as 16th Deg, 1983 ie, Saturday. So, 218t Dec.
1984 is also Saturday and thus, 22nd Dee. 1584 s n SBunday.

Hence, the answer is (d).

Note : For such questions as Fx. 4, remember
(i} A year has 365 days,,
(ii) Years, divisible by 4, are leap vears eg., 1980, 1084 1988, 1992, 1996,..
They have 366 days.
{iii) Febraary in a Im yuprhaa 28 days,
liv) The 'lasl. daﬂ' wof apear is the same as first day.

Thus, if the first day of a vear is Friday, then the last day of the year is
Friday .ind' the Grst day of the next vear is Saturday,

However, if the first day of a leap year is Friday, then the last day of the
vear is Saturday and the first day of the next vear iz Sunday.

| EXERCISE 11C

1. Kailash remembers that hiz brother Deepak’s birthday falls after 20th May but

2.

before 28th May, while Geeta remembers that Deepak’s birthday falls before
22nd May but after 12th May. On what date Deepak’s hirthday falls 7

{a) 20th May (h) 218t May i) 22nd May

fef) Cannot be determined (e} None of these

Sangeeta remembers that her father's birthday was certainly after eighth but
before thirteenth of December. Her sister Natasha remembers that their father's
birthd.v was definitely after ninth but before fourteenth of December, On which
date of December was their father's birthday ? {Bank P.O. 1888)
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{a) 1ith by 11th le) 12th
{(d} Data inadequate ie) None of these

8. Standing on a platform, Amit told Sunita that Aligarh was more than ten
kilometres but lesz than fifteen kilometres from there. Sunita knew that it was
more than twelve but less then fourtesn kilometres from there. IF both of them
were correct, which of the following could be the distance of Aligarh from the
platform 7 (B.S.HLEB. 1997)
{a} 11 km (b 12 km {e} 13 km id) 14 km ie) 15 km

4. Ashish leaves his house at 20 minutes to seven in the morning, reaches Kunal's
house in 25 minutes, they finish their breakfast in, another 15 minutes and
leave for their office which takes another 35 minutes. At what time do they
leave Kunal's house to reach their office 7 (Bank P.0. 1887)
{a) 7.40 p.m. (b} 7.20 a.m. e} T45 am. (0 B.1S am. (e} 7.50 ami

5. Ajay left home for the bus stop 16 minutes earlier than usual It takes 10
minutes to reach the stop. He reached the stop at 8.40 a.m. What time does he

usually leave home for the bus stop ? - mm
{a} 8.30 a.m.. (b) B.45 p.m. () 856 am,
{d) Data inadequats: (e} None of these

6. Heaching the place of meeting on Tuesday 15 minutes before 08.80 hours, Anuj
found himself half an hour earlier than the manwho was 40 minutes late. What
was the scheduled time of the meeting ? (B.8.C. 1606}
{a) 8.00 hrs  (b) B.06 hrs (e} 815 hrs . (d) B.45 hrs

The priest told the devotee, “The 'bhhpkhﬂl 8 rung at regular intervals of 45
minutes. The last bell was rung five minutes ago. The next bell is due to be
rung At 7.45 am.” At j\flilt time did the priest give this information to the

7

devotes 7 (B.5.R.B. 1988)
fa) 7.40 a.ml (b 7.05 a.m. (e} 7.00 a.m.
[ (d} 6,56 amy ted None of these

! 8. The train for Lucknow leaves every two and a half hours from New Delhi Railway
Station. An anneuncement was made at the station that the train for Lucknow
had left 40 minutes ago and the next train will leave at 18.00 hrs. At what time
was the announcement made ?

{a) 15,30 hrs (b) 17.10 hrs {c) 16.00 hrs

: e} 15.50 hrs e None of thess
8. An application was received by inward clerk in the afternoon of a week day.
Next day he forwarded it to the table of the senior clerk, who was on leave that
day. The senior clerk next day evening put up the application to the desk officer.
Desk officer studied the application and disposed off the matter on the same
day l.e., Friday. Which day was the application received by the inward clerk 7
{a) Monday () Tuesday ic) Wednesday
id) Earlier week's Saturday (g} None of thess (Bank P.O. 1997)
10. There are twenty people working in an office, The first group of five works
between 8.00 AM. and 2.00 P.M. The second group of ten works between 10.00
AM. and 400 P.M. And the third group of five works between 12 noon and
6.00 P.M. There are three computers in the office which all the employees fre-
quently use. During which of the following houra the computers are likely to be

i used most ? (C.H.L 1985)
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{a) 10.00 AM. — 12 noon (&) 12 noon — 2,00 P.M.
{c) 1.00 P.M. — 3.00 P.M. {d) 200 PM, — 4.00 P.M,

11. A monkey climba 30 feet at the beginning of each hour and rests for a while
when he slips back 20 feet before he again starts climbing in the beginning of
the next hour. If he begins his ascent at 8.00 am., at what time will he first

touch a flag at 120 feet from the ground ? (M.B.A. 1997)
{a) 4 p.m. (b} 5 p.m. e} 6 p.m. (d) Mone of these
Directiony (Questions 12 to I4) : Study the following information carefully
and answer The questions given below it : (E.B.LP.O. 1897)
(I) Kamal is available at home from 12 noon to 4 p.m. on Tueaday, Thursday
and Sunday.

{I1} His younger brother Navin iz available at home on Monday, Thursday,
Friday and Sunday between 10 a.m. to 2 p.m.

(I} The eldest brother Rajiv iz available between 9 a.m. to 12 neon on Monday,
Wednesday and Thursday and 2 pm. to 4 p.m. on Priday, Saturday and

Sunday,
12. At a time, on which day of & week all the three brothers are available at home ?
{2} None (b} Sunday () Thursday.

d) Cannot be determined e} None of these

13. For how many days only one brother is available at a particular time in a week ?
{a) One i5) Twa tc) Three  {d) Four {#) None of these

14. On which dayis) of a week, the youngest and the eldest brothers are available
gt home at the sames time 7 E
{a} Only Monday (53 Only Thursday () Omly Friday
{d) Both Monday and Thursday (e} Both Sunday and Friday

15. If the day before ywtadlfm'ﬂmﬂday when will Sunday be 7

(a) Today {6y Two days after today

() Tomorrow id} Day after tomorrow {Bection Officers' 1993)
16. If the'day bafore vesterday wasz Saturday, what day will fall on the day after

tomorrow £ (C.B.1. 1993)

{a) Friday (&) Thursday (c) Wednesday id) Tuesday
17. Hohlmmto the movies nine days ago. She goes to the movies only an Thursday,
" What day of the week is today 7 (Railways, 1984)

(a} Thursday ib) Saturday ()} Sunday () Tueaday

18, 17 the third day of a month is Monday, which of the following will be the fifth
day from 21st of the month ?

{a} Monday (b} Tuesday () Wednesday
{d) Thursday {¢) Mone of thege
19. 1.12.091 is the first Sunday. Which is the fourth Tuesday of December 91 7
(a) 17.1281 (b) 24.12.91 {c) 268.12.91 (d) 31.12.91
(C.H.1. 1994)

20. If Thursday was the day after the day before vesterday five days ago, what is
the least number of days ago when Sunday was three days before the day after
tomorrow 7 (Hailways, 1994)
{a) Two (b} Three (¢ Four {d} Five
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21. If the 25th of August in a year is Thursday, the number of Mondays in that

month is {8.5.C. 1896)
(a) 3 ih) 4 el B id) 6

If 18t October 18 Sunday, then 1st November will be (C.AT. 1997; R.R.B. 1898)
{a) Monday (b Tuesday () Wednesday id) Thursday
If 3rd December, 1990 is Sunday, what day is Jrd January, 1991 7 (8.8.C. 1904)
(a) Tuesday (5) Wednesday () Thursday id) Friday

If February 1, 1996 is Wednesday, what day is March 3, 1096 7 (M.B.A. 1996)
{a) Monday (b) Sunday (e) Saturday id) Friday

If the first day of the yvear (otheér than the leap year) was Friday, then which
was the last day of that vear ? (8.8.C. 1906) .
(a) Monday (b) Friday (¢} Saturday (d) Sunday

If 18th February, 1997 falls on Tuesday then what will be the day on 18th
February, 1999 * (Railways, 1808)
(a) Monday () Tuesday (e} Thursday (d) Friday

How many days will there be from 26th January, 1996 to 15th Maf? 1!@6%‘&1
days included} ?

{a) 110 (h) 111 ) 112 (d) 113 el Hl:mﬂ of ﬂinse
28. Whict two months in a vear have the same calendnr"’
{a) June, October () April, November
{e) April, July ) hp- December
ANSWERS

1. (b) : According to Kailash, Deepak's birthday ﬁlin 0N OTE u-f the days among Z1st, 22nd,

B.{d'}:?

23rd, 24th, 25th, 26th and 27uh May
According Lo Geeta; Deepak’s birthday falls on one of the days among 13th, 14th,
15th, 16th, 17th; 18th, 19th, 20th and 21st May.
Thedaymmqm to bﬁih the groups is 21st May.

Maﬂi hrﬁda‘}fa’lls on 215t May.
‘ y Smfgeel-n the father's birthday falls on one of the days among 9th,
10th, 11 th and 12th December. According to Natasha, the father's birthday falls on
unguql‘tlbe days among 10th, 11th, 12th and 13th December.

The days common to both the groups are 10th, 11th and 12th December, So, the
father's birthday falls on any one of these days,

.i;':ﬁ'} : Clearly, according to Sunita, the distance was more than 12 kmes but less than 14

4.

5.

kmsg, which s 13 kma.
(b} ; Ashish leaves his house at 6.40 a.m.
He reaches Kunal's house in 25 minutes ie, at 7.05 a.m.
Both leave for office 15 minutes after 7.05 am. ie, at 7.20 a.m.

ie} 1 Clearly. Ajay left home 10 minutes before 840 am. ie., at 8.30 a.m, But it was 15
minutes earlier than usual So, he usually left for the stop at 8.45 a.m.

6. (b) : Anuj reached the place at 08.16 hours,

7.

Clearly, the man who was 40 minuotes late would reach the place at 08.45 hours,
Sa, the scheduled time of the mesting was 08.05 hours.

(h) : Clearly, the last bell rang 45 minutes before 7.45 a.m. L, at 7.00 am. But it happened

five minutes before the priest gave the information t-u the devotee. So, the information
was given al 7.05 a.m,
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B, () :

B ic):

10. (b} :

11. (e} :

Clearly, the last train left two and & half hours before 18.00 hours i.e. at 15.30 hours,
But this happened 40 minutes befare the annonncement was made. So, the announce-
ment was made at 16.10 hours,

Diesk officer received the application on Friday.

Clearly, the application was forwarded to the table of the senior clerk on Thursday
So, the application was received by the inward clerk on Wednesday

Clearly, the computers would be used most when all the three groups are working
simultanevusly and this happens during the period 12 poon (o 2 p.m.

Clearly, the monkey climbs 10 feet in one hour.

8o, it will climb upto o height of 20 feet in 9 hours Le, at 500 pm, It will then
ascend a height of 30 feet in the next hour to touch the peak at 8.00 p.m_

Questions 12-14

We prepare a table as under :

| Mon Tue | Wed Thu Fri Sat Sun
| 9 am. to 10 &m B ] B A
lﬂ am. to 12 neon M. R R N. R N by’
IEanwﬂpm N K | KN N KN
[2pm todpm. K | ¥ | Rg" W PR
12. (o) : Clearly, all the three brothers are not ay a:lﬂhlu nk th.l.ihe ﬂ]ﬂn on any day of the
wioeek
13. (o) : Clearly, one brother is available at & particviartimeon all Beven days of the week.
14. () : Clearly. Navin and Rajiv are available al home at the same time on Monday and
Thursday
15. {e) ¢ If day before vesterday was Thursday, so today is Saturday
" Tomorrow will ke Sunday.
18, (¢ : [I' day before yesterday m:Emm*dm w0 today is Monday,
Thus, tomorrow will be Tuesday and day after tomorrow will be Wadnesday.
17. (b} : Clearh' tine days sgo, it was Thursday
. Today is Saturday.
18. {c} : TEE drd day is Momiday. S0, the 10th and 17th days are also Mondays
'I'.hﬂ. ﬂu%iwdny is Friday
'I'h_a_ﬂ."ﬂl day from the 21st will be Wednesday.
18, (b) : !..!m'ﬁ the first Sunday of December 91.
. Sa, 3.12.81 i the first Toesday of the month.
Clearly, 10.12.91, 17.12.91, 24.12.91 and 31.12.91 are also Tuesdays.
8o, 24.12.91 in the fourth Tuesday,
#0. {a} : Day after the day before veaterday iz vesterday.
Now, five day=s ago, yesterday was Thursday.
So, five days ago, it was Friday
., Today is Wednesday.
Now, three days before the day after tomorrow is vesterday
Now, it iz on Monday that we say "Yesterday was Sunday’,
21. (c) : 25th August is a Thursday.

So, 22nd August i a Monday.
8o, Mondays fall on 1st, Bth, 16th, 22nd and 28th of August,
Thus, there are five Mondays
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24 () :

23. (b):

24. () :

28. (b} :

26, (c)

27.(b) :

28. (e):

Reasoning

Clearly 1st, 8th, 15th, 22nd, and 29th October are Sundays.

8o, 31st October is Tuesday.

~ 1st November will be Wednesday.

Clearly, 3rd. 10th, 17th, 24th and 31st December 1990 are Sundays.
So, 1st January 1991 is Monday and 3rd January 1991 is Wednesday.
1986 ia a leap vear and so February has 29 days.

Mow, 1st, Bth, 15th, 22nd and 28th February are Wednesdays.

S0, 1st March is Thursday and 3rd March is Saturday.

If the year is not a leap year, then the last day of the year is the same a8 the first
day.

18th February, 1887 was Tuesday.
So, 18th February, 1998 was Wednesday.
- 18th February, 1999 will be Thursday.
Number of days = (6 + 28 + 31 + 30 + 15) = 111.
Note : 1988 is a leap year. So, number of days in February =29,
Two months will have the same calendar if the period between them is divisible by
{a) June + July + Aug. + Sep. =30 +31 + 31 + 30 = 122 (not divisible by T)
{b) Apr. + May + June + July + Aug. + Sep. + Oct. .
= 30 + 31+ 30 + 31481 + 30+ 31
=213 (not divisible by 7)
{c) Apr. + May + June =30+ 31+ 30 =91 (divisible by 7)
(d) October + November = 31+ 30261 (not divisible by 7)




12. MATHEMATICAL OPERATIONS

This section deals with questions on simple mathematical operations. Here, the
four fundamental eperations — additon, subtraction, multiplication and division and
also statements such as Tess than', ‘greater than', ‘equal to', "not equal to', ete. are
represented by symbols, different from the usual ones. The gquestions involving these
operations are set using artificial symbols. The candidate has to substitute the real
signs and solve the questions accordingly, to get the answer.

TYPE 1 : PROBLEM-SOLVING BY SUBSTITUTION

In this type, you are provided with substitutes for varicus mathematical me:uh
followed by a question invelving caleulation of an expression or choosing the goprect/
incorrect equation. The candidate is required to put in the real signa in the given
equation and then solve the questions as required.

Note : While solving & mathematical expression, proceed according te the rule
BODMAS — ie., Brackets, Of, Division, Multiplication, Addition, Subtraction.

eg, (36-12)+4+6+2x3 = LI Exﬂmplﬂg,; ank;ﬂ-

=8+3x=3 {Bﬂnuﬂ:ﬁmm!
=6+9 {Bolving Multiplication)
=15 (Salving Addition)

| ILLUSTRATIVE EXAMPLES |

Ex. 1. If '+ means ‘divided by, - means ‘multiplied by’, "=’ means ‘minus’ and '+
means 'plug’, which of the following will be the value of the expression
16 + 8 - l#ﬂ'ui"' {Bank P.0. 1985)
{a)’ 8 i 28 (c) A2 () 44 {¢) None of these

Hol. P‘amagthu proper signs in the given expression, we get |
‘]B-I-H:-c-i-i-ﬂ 4=16+8x2-4=16+16-4=32~4=28
So,/the answer is (b).

Et.’- If + means +, — means », + means + and = means —, then

' Bx12+4+6+2-3=7

(@) 2 () 18 (c) 42 (d) & % A T .

Bol. Using the proper signs, we get :
H-12+4+8+2x3=06-3+3=x3=36-3+8=45-3=42
S0, the answer is (g).

Ex. 3. If A means ‘plus’, B means ‘mirus’, C means 'divided by’ and D means ‘multiplied
by, then IBAI12CED2ZRBRE =7 (B.5.RLB. 1686)
(a) 15 {b) 25 e) 27 () 45 (e} None of these

Sol. Using the proper signs, we get :
Given expresgion = 18+ 12+ 6x2-5=18+2x2-5§

= +4d-5=dF-he=]T,

S0, the answer is (e).
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Ex. 4. If x stands for -, + stands for +, + stands for + and - stands for =, which

one of the following equations is correct ? (S.8.C. 1998)
(@) 16 -5+56x20+10=06 b}18+10-3+5x6=8
(c)Bx2+3+12-3=156 id)3+7-5x10+3=10

Sol. Using the proper signs, we get :
Expression in (@) =16 x65+5=-20+ 10=16x5+5-2=T6+5-2="T8.

Expression iu[fl}=_E-+lﬂ!3+5—E=3+Iﬂu%:E=B+G—E=E.
Exprmninnin[n]=E—2+3+12x3=E—g+HE=¢2—§=%-
|

3
10

Expression in{d}=3+'.'||'15—10+3=3+7x5——ﬁ—=3+35—1§0=%

Statement (b) is true.

F.'.x.ﬁ. It being given that : > denotes +, < #lenotes —, + denotes =, - denotes = =
denotes ‘less than’ and x denotes ‘greater than', find which of the following
is a correct statement.

(@)3+2>4m0+3<2 {-EI}H:-E:--l:IIEB_;ﬁﬂ:c'I_
c)3>2<4xB+4<2 (d13+2<4x943<8

Sol. Using proper notations, we have :

(a) Given statement is 3 +2+ 4 <9 +8- 2 or %{Lw’fuch is not true,

(b) Given statement is 3 + 2 +4 < ‘j.a+ 39- 1 or 8 <5, which is not true.
(c) Given statement is 3 +2-4>8+4—-2.or 1> 0, which is true.

(d) Given statement is ﬁ’f§+4 >9+8-3 or - % =0, which is not true.
So, the statement {c) is true.
| EXERCISE 12A |

1, If = u‘ta.nﬁ for ‘addition’, + stands for ‘subtraction’, + stands for ‘multiplication’
and - ﬂlndu for ‘division’, then

- WxB+8-4+2=7 (Transmission Executives' 1984}
. {a) 80 by 25 (e) 24 {d) 5
‘2, If - means x, x means +, + means + and + means -, then )
40x12+3-6+60=7 (Bank P.O. 1883)
{(a) 7.96 (b} 16 (c) 44 (d) 479.95 (e) Mone of these
3. If + means +, » means -, + means x and — means +, then
8+B8x4+3-4=7 (Bank P.O. 1884)
@-12  ®-2  ©w @32 () None of these
4. If « means +, - means =, + means + and + means —, then
(3-15+19)xB+86="? {Assistant Grade, 1998)
{a) B ih) 4 ey 2 d) -1
6. If + means =, + means —, * means + and - means +, what will be the value of
4+11+6-56="7 (L.1C. 1994)

fa) —48.5 {b) - 11 le} 79 (d) 91 {e) None of these
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6.

ar

10.

11.

12.

13.

14.

17.

18.

If = means +, + means —, - means x and + means +, then
BxT-B+40+2="7 {Bank P.O. 1988)
(@) 1 (b} :r§ e} 3:9; (d) 44 (e) None of these
If + means —, — means x, * means + and + means +, then
; 153 +16+6-2="? (B.B.LP.O. 1984)
(a) 0 (b} & {e) 10 i) 20 (£) MNome of these
If = means -, + means +, — means * and + means +, then
15— 24 900 + 80 « 100 =1 (B.S.RLB. 1995)
{a) 190  (b) 180 (c) 90 ) O {e) None of these
If + means +, - means x, + Means —, = means +, what will be the value of
B+B+4-T=«37
{a) - -'% by = "-!2-3 (e) 12 {e) 14 ie) None of these
If + means +, - MeaNs + ® means - and + means =, then
(dxdj-Bx4 _,
44+8«2+16+1
ta} O (b) & (e} 12 (d} 16
If P denotes +, Q denotes =, R denotes « and S denotes -, then
BQIZP4R5S 6=
{a) 36 {b) B3 {¢) B9 {cd} 65 gl None of these
If & means ‘plus’, b means ‘minus’, ¢ means ‘multiplied by’ and d means ‘divided
by', then 1Bcl4ab6hl6d4=" _ (B.5.RLB. 1996)
(@) 63 (b} 254 (c} 288 () 1208 {e} None of these
If A means -, B means + Cumeans +'and D' means =, then
ISB3C24ATZD2=7 (Bank P.0O. 1996)
@34 )2 @y (d)-235 (e} None of these
If x stands for ‘add’, » stands for ‘subtract’, z stands for ‘divide’ and p stands
for ‘multiply’; then what is the value of (Tp3)y6x 67 (UD.C. 1984)
{a) 5 ia) 10 ic) 16 {d) 20
If A stapds for +, B stands for —, C stands for =, then what is the value of
{IUC HAMCHEBEG? (Assistant Grade, 1692)
Aa) 60 {b) 56 tch 50 id) 46
If L denotes =, M denotes +, P denotes + and @ denotes -, then
IGP2aMeQeM2LE="?
{a) lﬁi by — é (e} 14 :i! {d) 10 {2] None of thesa
If - means +, + means x, + means -, = means 4+, then which of the following
equations is correct ¥ (C.B.IL 1887)
(o) 52+4 +5=8-2=16 by 43 = T+6+4-8B=25
(c) 38 «4-12+5+3 =420 d)36-12=6+3+4=60
If =« means ‘addition’, - means ‘division', + means ‘subtraction” and + means

‘multiplication’, then which of the following equations is correct 7 (8.8.C. 1998)
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{a) 6x5+10+4-3=19 (bY16+5+10x4-3=9
() 16+5-10x4+3=9 - (d) 16-5x10+4+3=12
19. If + stands for ‘division’, = stands for ‘addition’, - stands for ‘multiplication’ and
+ gtands for ‘subtraction’, then which of the following equations is correct ?
@) BExG+T7+2-6=20 k) 3B+B+3x5-3=45
) 36+6-3+6+3=24 {d) B-6+FIx5+3=T4
{Assistant Grade, 1984)
20, If P denotes +, Q denotes -, R denotes « and 8 denotes +, which of the following
statements is correct 7
(a) 3BR4SEQTP4=10 (5) 1I6R12P 4987 Q9 = 200
i) 3288R9=160Q 12R 12 d) BRBPESEQ8=57
21. If L denotes +, M denotes «, P denotes + and Q denotes —, then which of the
following statements is true ? "

(@) 32P8L16Q4 =~ 3 5 6M18Q26L13P7=1T2

e 11]&[34L1'1'QE]L.3—E [dlﬂPﬁLﬂQEMﬁ:-‘Tl

22, If = stands for ‘addition’, < for ‘subtraction’, + stands fﬁ diﬁhmn’ = for ‘multi-
plication’, ~ stands for ‘equal to’, + for ‘greater than' and = stands for ‘less than’,

state which of the following is t.rua‘i' (U.D.C. 1984)
@) 3x2<4+16>2+4 !h]h2+2-ﬁ{435
c)3x4>2-94+3=3 l,“ﬁll.'i‘r‘uﬂ{'i’*8+4xl

Directions (Questions 23 to 27) 3 J?"h-icnolﬂ +, = denotes —, + denotes
+, A denotes =, — denotes <. x denotes > and = denotes <, choose the correct
statement in vach of the ﬁﬂdﬂng questions.

23. (@) 6+3>Bz4+2<1 ) 4>6+2x32+4<1
e} B<4+2=6> # (dy14+T7T>3=6+3>12
24. (a) 1451849 =1644 <1 b)4>378<1-6+2>24
‘{Hﬂ ﬂm4>ﬂﬁfﬂ+4>l {d)12>9+3<Bx25+5>8
26, {a) 13> T7<6+2=314 (B)9>5>4-18+9=18
1) 928<2>1x842 ) 2B+ 4nB2=8Bnd+2
26. (2)29<18+6=36+6+4 (B) 1812+ 4xT7>8,2
(¢} 32>6+2=6<Tn2 (31 >1<2=4>6~7
27. @) T=T<T+T=14 B TAaT>T+T=TnT>1
) T<7+7=6 id)7+7>7=8

Directions (Questions 28 to 32) : In each of the following gquestions, dif-
ferent alphabetls stand for various symbols as indicated below :
Addition : O Subtraction : M Multiplication : A
Dvvizion : @ Equal to : X Greater than : Y
Lesa than : 2 (L. Tax & Central Excise, 1996)
Out of the four alternatives given in these questions, only one is correct
according to the above letter symbols. Identify the correct answer.
28 a)2Z2A401A4M8 BIBY2AQA4Q2A4
e} I0X202A401M2 d)12X402Q1A4A2
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29, (@101Q1M1Y3Q1
©)302010Q2X10A2
30. 0)302X2Q1A301
(©10A2Z2Q2A10Q2
31. ()32 XB8Q2A3Q1A2
©2Y1A1Q101A1
32 (a)BQ4A1M2X16M 16
©6Q20101X16A 1

) 2Q1010A1Z6A4
(d5Q5A505Y5A2
(B)6M2Y10Q2A301
d)10A2Y2Q1A10Q2
(b)14X2A4A2M2Q1
(d)I6EYBAS01A2M2
(802A12Q10X18QH
@203M4Q2Z1AQ2

437

Directions (Questions 33 to 37) : In the following gquestions, different letiers
stand for various symbols as indicated below :

R : Addition S : Subtraction
U : Division V: Equal to
X : Less than

T : Multiplication
W : Greater than

Out of the four aliternalives given in these questions, only one is mn‘pﬂ

according to the above letter symbols. Identify the correct one.

a3.

5 8 8 &

16 TZR4U6X S8
@1B6T2U4V6RE
@a)20U4R4X2T3
©20T4U4U2X8
(@ IBUSRAV2TS
(c)I58S6T3IWZR3
a)24aTT3RES2WS
(©)24R38S2X2T8 -
B30 REUT2WA4ATS3
)3 SeU2U4VE

)16R284VERS
(16 UZR4SEWS
(b)2084U4V2TS

(d) 20 R 4 UiBZWﬁ-‘-

(b) 15UEW3R2TS
(d) ISR 5U 8V 2R3
(b)2488X2T2US8
(d)24U3T2V2T8
(b)308682X4T3
()30 UBR2WATS

e S

1. (ch:

2. (€)%

8. (b):

4. (e):

B (e} :

8. (b):

ANSWERS

Uﬁ‘i* themrriﬂ:y‘mhh. we have :
&ww-m+ﬂ Bedx2
4 =20+B-2x2s320+8-4=24.
Using the correct symbals, we have ;
Given expression =40+ 12+3=6-60
=40 +d =6 -60=40+ 24 - 60 = 4.
Uamgthnmrrmtaymhnh we have :
Given expression =B +6-4 3+ 4
4 4 - 20
—§—4r3*4l§—19+4=T-
Using the correct symbols, we have :
Given expression =(3 x 15+ 19)+B-8&

=(46+10)+8-6=64+B8-B=8-8=2. —

Usging the correct symbaols, we have

Given expression =4 x 11 -5+56=44 -5+ 66 =94,
Using the correct symbaols, we have :

Given expression =8+ 7 x84+ 40-2

=E+?Il—2=B+1—2=ﬂT

5 ; el
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Tolel

B. el

8. da) -

10. {a) -

11. b} :

12, i) :

18. (e}

14, (d) :
16, (e} @

16. id) :

19. (o) -
20. (d):
21 {d):
22, thy
23. 1eh

24. (h)

Using the correct symbols, we have

Given expression = 15483+ 15 -5x2=5+15-6=2=56+16-

Using the correct aymbols, we have |
CGiven expression = 15« 2 + 800 + 90 - 100
=15 %2+ 10-100=30+ 10 - 100 = - 60.
Using the correct symbols, we have :
Given expression =B+ 6-4=T+3
=-;-—43-=743-§-'Eﬂ 3=-—T—al"-
Using the correct Wmhﬂh. we have :

Given edpresgion = - ook ol ke 3

xﬂ- 2w 16 +1
_32+8-4 _4-4_,
32-32+1 1

Using the correct symbols, we have :
Chven expression = 8= 12+4+5 -6

B =E+24+E 6+2=3
=184+3-3x3=16+3-9=10

proper notations in la), we get the slatement as
= x5+ B+ 2=52-4x5+4=02-20+4=236

ging the proper notations in (c), we get the statement a=
IE\E*lﬂ'--i~Hulﬁn%+1-atﬁ_#4-3=9.

Using the proper notations in (d), we get the statement as
BEB+3+5-3=3622+5-3=T2+5-3=74

Using the proper notations in (d), we get the statement ag
BxB+H4B-HeBaB+]l-Bubd+1-8=5T7

Using the proper notations in ld), we get the statement ag
B+9+9-BeB=8+]1-Gx8=04+1-Bl=-TL

Liging the proper notations in (b), we get the statement as
Sx242<10-4+8 or § <14, which is true.

Using the proper notations in (¢ we get the statement ag
B-4+:2<6+3 er 6<9, which is true.

Using the proper notations in (b}, we get the statement as
4+3+8-1=8+2+24 or 27 =27, which is true.

10 = 190,

Reasoning

636\\
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25. (b):
26. (d) ;
27. (o) :
28, {a):
28. (b :
30. (d) :
.16 :
32 (a):
83.h):
34. (d) .
36. (a) :
A6, (d) :

87. fa):

Using the proper notations in i), we get the stalement as
G+5+4=18+9+16 or 18= 14, which is true.

Using the proper notations in (d), we get the statement as
31+1-2<4+6«T or 30 <46, which is true,

Using the proper notations in (a), we get the statement as
T+7-7+T7<14 or 13 < 14, which is true

Using the proper notations in (a), we get the statement as
22«4 +1x4 -8 or 2 <4, which is true.

Using the proper notations in (b), we gel the statement as
2+1+10x1cBx4 or 12 <24, which is true,

Using the proper notations in (d), we get the statement as
1022+1=10+2 or 20> 10, which is troe.

Using the proper notations in (b), we get the statement as
14=2uxd=2-2+1 or 14 = 14, which is true.

Using the proper notations in (a), we get the statement as
B+dx1-2=16-16 or D=0, which is true

Using the proper notations fn (b), we get the statement as
16+2-4=6+8 or 14 =14, which is true.

Using the proper nﬁhﬂ‘nu.ln {d), we get tho statement as

20+4=4- E}'iqr'l.ﬂ:hﬂi.whinhhuu&

Using the proper notations in ﬁh"he gel the statement as
16+5+8= Qsﬂur&&wﬂmm\e

Using the proper notations in (d), we get the statement as
24+3x2=2x=8 or 16 =16, which is true

Using the proper notations in [“h:m gt t.lm-atat.amant as
0 +6+2>4x3 or 30 >12, wl'@h'tnw
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Ex. 1.

TYPE2: mrﬁnéiuﬁaE 't:iF SIGNS AND NUMBERS

If the milltﬂ'qh Bﬂgﬁﬁ namely : signs + and + and numbers 2 and 4 are
made in qui and numbers, which one of the following four equations would

be correct 7

(@) 2+4+8=3 (D) 4+2+6=15 ()4+2+3=4

‘Sol.  Interchanging + and + and 2 and 4, we get :

(@ 4+2+3=3 or 5=3, which is false.

b)) 2+4+6=15 or 6.5=1.5, which is false.

()2+4+3=4 g 1—;—4 which is false.
(d)4+2+6=8 or 8=8, which is true.

dy2+4+68=8

Ex. 2. Which one of the four interchanges in signs and numbers would make the

given equation correct 7
d+65-2=4

fa) + and —, 2 and 3 (B +and-,2and5
fe)+and -, 3and 5 {d} Mone of these

Bol. By making the interchanges given in (a), we get the equation as

2-5+3=4 or 0=4, which is false,
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By making the interchanges given in (5), we get the equation as
3-2+5=4 or 6=4, which is false,

By making the interchanges given in (c), we get the equation as
G§-3+2=4 or 4=4, which is true,

So, the answer is (c).

| EXERCISE 128 |

Directions (Questions I to ) : In each of the following gquestions if the
given interchanges are made in signs ond numbers, which one of the four
equations would be correct ?

1. Given interchanges : Signa - and + and numbers 4 and 8-

@) 6-8+4=-1 (b)B-8+4=1
el d+«8-2=86 d)4~-B+6=2
2. Given interchanges : Signs + and = and numbers 4 and 5.
(o} 5% 4+ 20 =40 . (b)Bxd+20=85
(c) 6«4+ 20=104 () B x4+ 20=95
3. Given interchanges : Signe + and - and numbers 4 and B.
(ah 4-8-12=186 (h) 4 -8+ 12=0
(YB+4-12=24 d) 8-4+12=8
4. Given interchanges : Signs - and x and numbers Emﬂﬁ
o) 6-3=2=9 th) 3- Eil 10
e)6=3-4=15 : (d) 8 <6-4-33
5. .Find out the two signs to be interchanged for making following equation correct
F+8xB-123+4=3 (C.AT. 1997)
{a) + and - {h) - and + c) + and x idy + and +

Directions (@westions 6 fo I0) : In each of the following guestions, an
equation becomes Incorrect due to the interchange of two signs. One of the
four alternatives'under it specifies the interchange of signs in the equation,
which when made will make the equation correct. Find the correct alfernative,

- (U.D.C. 1991)
6. 5:6+3-12x2=17
{a) + and = {b) + and = {e) + and + (d) + and -
7. 223+8-12+4=17
(a) « and + (5) + and - {e) + and + (d) — and +
B 16-B+4+5w2=8
{a}) + and = (&) — and + &) + and + (d) - and =
B H+0+dx3d-6=12
(a) + and x (b) + and x {e) + and - (d) + and -
10 12+:2-6x3+8=18
{a) + and + (b} ~and + {c) = and + () +and =
11. Which of the following two signs need to be interchanged t0 make the given
equation correct 7 (M.B.A. 1987}

ID-lﬂilﬂ—lﬂrlﬂ'=1ﬂ
{a) + and - (b} + and + {e) +and = () = and +
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Directions (Questions 12 to 16) : In each of the following guestions, the
two expressions on either side of the sign (=) will have the same value if two
ferms on either side or on the rame side are interchanged. The correct terms
to be interchanged have besn given as one of the four alternatives under the

expressions. Find the correct alternative in sach case. (CAT. 1987T)
12, 5+3xB6—-4+2=4=«3-10+2+T7

(ay 4, 7 b) 5, 7 (e} B, 4 {d) 8, 10
13, Tu2-3+B8+4=5+6=2-24+3

{a) 2, 6 b} 6, B e} 3, 24 {d) 7.6
14, 15+3u4-B+2=8ub+16G+2-1

ta) 3, & {4 15, b {ch 15, 18 (d) 3,1
15. 6x3+8+2-1=8-8B+4+5u=2

{a) 3, 4 by 3, 5 {c} B, B {d) 8 5
18. 3+2x5-114+9=8x2-5+4+2

(a) B, 9 {b) B, 6 ()9, 6 {dyill, &

Directions (Questions 17 to 20) : In each of the following questions, whickh '

one of the four interchanges in signs and numbers would make the given
equation correct ¥

17. 6x4+2=18

{a) +and =, 2and 4 (b) + and %, 2and 6

{¢) +and =, 4 and 8 {d) None of thess
1B. (3+4)+2=2

{a) +and +, 2and 3 (b) +and +, 2and 4

e) +and +, 3 and 4 () No imterchange, 3 and 4
18, dx6-2=14

{a) = to -+, 2 and 4 {b) ~to +, 2 and &

() ~ to +, 2 and & {d) =to+, 4 and@
20. (6+2)x8=0

{a) #and =, 2 and 3 (b) «to -, 2and 6

ic) ~and = 2and & (d} xto-,2and 3

ANSWERS

L'!r.'.'l' On interchanging - and + and 4 and 8 in (), we get the equation as
B-4+2=6 or 8-2=8 or 6 =8, which iz true.

2. (e} : On interchanging + and = and 4 and § in {c), we got the equation as
4+ 5= =104 or 104 = L4, which is true.

& (b} : On interchanging + and - and 4 and 8 in {b), we get the equation as
B+d-12=0 or 12- 12:,@ ar 0 =10, which is tras.

4. (). On interchanging - and «and 3 and 6 in (b), we get the squation as
6r3-8=10 or 168-8=10 or 10= 10, which is true.

B. (b} : On interchanging - and +, we get the equation as

d+dxB+13-4=3 or u+ax-§-—4n3 or 3= 3, which ia true.

6. (a) : On interchanging + and =, we get :
Given expression =5 +623-12+2a5+8x3-8=8+18-6=17.
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7. (a} : On interchanging » and +, we get :
Given expression =2+ 3x6-12+4=2+3x8-3=2+18-3=1T.
B (b} : On interchanging - and +, we get :
Given expression =18 +B -4 +5x2=22-4+6x2=2-4+10=8.
8. {c) : On interchanging + and -, we get :
Gi'.rene:prmiun-ﬂ+ﬂ—i=3+6=9+5—1I—;=9+5—2=12.
10. (b) : On interchanging - and +, we get :
Given expression =12+24+6x3-B=6+623-8=6+18-8=16
11.1g) : On interchanging + and «, we get the equation as
10%10+10-10+10=10 or 10=1 =10+ 10=10 or 10 = 10, which is true.
12. (¢} : On interchanging 6 and 4 on L.H.8.,, we get the statement as
5+324-6+2=4x3-10+2+Tor5+12-3=12-5+7or 14 =14, which is true,
18. {d) : On interchanging 7 and &, we get the statement as _
Esﬂ—ﬂ+ﬂ+4=5+7n2-ﬂ+3m‘12-31-'2-51-l-l-ﬂnrll-ll,whit__‘.h_‘vk'm
14. (o) : On interchanging 3 and 5, we get the statement as - v
15+6xd-B+2=BwT%l6+2-1or 15+ 20 -4=24+8- lﬂ‘ﬂl-!l&ﬂ.ﬁ.&?hlﬁm.
15. {d) : On interchanging 9 and 6.on RH.8, we get the statement as
Gx3+8+2=1mB-B+d+0x20r 18+d~-1ub-2+18 wil-ﬁlwﬁkhwtm
18. (c) : On interchanging 9 and 6, we get the statement as. \
B4+2x5-1146=9%2-5+4+2 or 415-11468=18-54+2 or 15=15, which is
true.
17.4{c) : On interchanging + and ::ln.d-innﬂﬁ ﬂﬁ;ﬂt-thniqunmnm
4+6x2=18 or 4+12=16 or 16 =18, which is true.
18. o) ; On interchanging + and +md23ndl.\mgé’tthaequnumu
(Z+4)+3=2 or B+3=20or 2= 2, which is true.
18. {c) : On changing — to + and interchanging 2 and 6, we get the equation as
4x2+6=14 or §46=14 or 14 = 14, which is true.
20, (d) : Dnchu:ingﬁh .;ndlﬂ.umhmmng!anﬂﬂ we get the equation as
(G+3=2=0 or 2-2=0 or 0=0, which is true,
y
m;.— DERIVING THE APPROPRIATE CONCLUSIONS
Ex. 1. lﬁHﬂg given that = denotes ‘greater than', ¢ d&nnt.as ‘equal to', < denotes
‘not less than’, | denotes ‘not equal to’, ﬁdenutnn‘]saat.han and+denntu
nntgre.nt&rthan, {M.B.A. 1998)
choose the correct statement from the following :
If a = b Ag, it follows that '
(aladcab b)b<axe cla<b+e
(dic+b<a e) bcade
Sol. Using the usual notations, we have :
(@) : The statement isa>b<ec = a=c<b, which is false. -+ e>b]
(b) : The statement isa>b<c = b4 a>e, which is false. [ b<al
(c) : The statement isa>b<e = a4 b* ¢, which is true.
% (d): The statement is a>b<c = ¢ b4 o, which is false. [ b<al
(e) : The statement isa>b<e = b4 a=c, which iz false. [« b<al

Hence, the statement {2) iz true.
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Ex. 2. In the following guestions, the symbols * = = @ and @ are used with the

1.

a’!

Eol.

3.

following meanings : {(8.B.1L.P.0. 1997)
‘A * B' means 'A is greater than B',

‘A » B' means ‘A is either greater than or equal to B

‘A = B' means ‘A is equal to B

‘A @ B means ‘A is smaller than B’

‘A @ B' means ‘A is either smaller than or equal to B'. '

Now, in each of the following questions, assuming the given statements to
be true, find which of the two conclusions I and IT given below them is/are
definitely true ?

Give answer (a) if only conclusion 1 1s true; (b) if only conclusion I is true;
(¢) if either 1 or II is true; (d) if neither [ nor II is true and (e} if both 1 and
Il are true. )

Statements : M=T, T@Z, 5= M
Conclusions : L. Z+M I.Z=M
Statements : R@M, M=P, R~ L
Conclusions : LM=1L IEP-=1L
Statements : L&EC, C+Z, ZBF

Conclusions : [. O+ F

=P

Statements : Z&B, N+8 BAN

Conclusions : . B=12 . ILB@B
Statements : T=P, P@8, P=M
Conclusions : [. S+ M 1.Tas
1. Given statements : M=T, T<Z, §=M
Now, to verify conclusions | and I, we need to find a relation between Z
and M. )
Z2T, T=M = 2= M ,
: =Z>.H or Z=M ie, Z*M or Z=M.
So, either [ or II follows. -
Henge, the answer is (c).
Given statements : R<M, M=F, R=L
1. Relation between M and L :
MR RE>L = MzL ie, M=L.
W i%. I is not true.
IL. Relation between P and L.
P«M M:zR, RzL = no definite conclusion.
So, 11 is also not true.
Hence, the answer is (),
Given statements : L<C, C»Z, Z=F.

Clearly, we find a relation between C and F.
C>Z Z<F = no definite conclusion,

s@-

neither I nor 11 is true.

Hence, the answer iz (d).
Given statementz : Z<B, N8, B<N. ~_

L

Relation between B and 2
Clearly, B>2 ie, B+ Z,
So, 1 is not true.




Edd

B,

1!

El
4.
B

6.
7.

8.

to',

Reasoning

I1. Relation between 5 and B :
H<N, N>B = no definite conclusion.
5o, I1 is also not true.
Hence, the answer is (d).
Given statements : T2 P, P<8§, P=M
L Relation between 8 and M :
E>P, P=M = 8>Mie, 8+ M
B0, 1 is trua,
II. Relation between T and 3 :
TzP. P<5 = no definite conchusion.
So, Il is not true.
Hence, the answer is {a).
| EXERCISE 12C |
Which of the following conclusions is correct according to the given expressions
and symbols ? ' (LLD.C. 1995)
Al B:> e bB:= E:d P
Expressions : (afb) and (bEc) =
ta) aEe ib) aFc ic) cBa 1 id) cBb
Find the correct inference according to given miuu and symbals ;
A ; Not greater than B : Greater than C ; Not equalto

D : Equal to E : Not less than F' : Less than
Premises : (ICm) and. (}Am)
(a) {Bm - (5) {Dm, {c) [Em {d) [Fm

(Transmission Executives’, 1884)
Directions (Questions 3 to 8) : It being given that !
A denotes ‘egual to'; O denofes ‘mot equal to’: + denotes ‘greater than®;
- denotes lesy than'; = denoies ‘nof greater than’; + denotes ‘not less than’.
Choose the correct statement in each of the following questions :
a—b - ¢ implies

fala-b+c by b+a-c cle=b+a dyb+a+e

a+ b ¢ implies |

@y b-c—a ibye—b+a cloc+b-a (dexb+a

a = b+¢ imphes

{fela-b+e iBlexbh+a @albOe dbsra+e

i+ b +e does not imply

(a)b-a+c be-b-a ehe-a+bh d)b-a-¢c

a + b—¢ does not imply

{fale+b-a by b-a+c ey bDalc {d) None of these
a &0 e implies

aya+b+e bya-b-e a+b+e () None of these

Directions (Questions 8-10) : If « means ‘greater than', p means ‘equal
0 means ‘not less than', y means ‘less thar', & means ‘not equal to’ and
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n means ‘nol greater than', then which of the four dtmnl!m-nmm be

a correct or proper inference in each of the following {P.C.5. 1985)
9. aalband 2b6r
{a)anr blaar (chafr dyayr
10, 2xdy and y p 32
{a)ybx ib) 2cn 32 (¢) 2x 5 3z () 3z n 3y

11. If A stands for ‘not equal to’ (#), B stands for ‘greater than' (=), C stands for
‘not less than' { 4), D stands for ‘equal to' (=), E stands for ‘not greater than'
i#), F stands for ‘less than® {<), then according to the given premises (4x F 5y)

and {6y E 3s), which of the following inferences is correct ¥ (C.H.L 1884)

(o) 4x A 3a (b)) 4x B 3s le) 42 C 3z id) dx D 3s

Directions (Questions 12 to 17) : In the following guestions,

A means ‘iz greater than’, % means "is lesger than', O means ‘is equal o'
= means ‘ia pot equal to', + means ‘is a little more than', = means is a little
leas than'.

Choose the correct alternative in each of the following questions.

12. IfaAd and b+c, then ’

ia) a %c thlce%a icle+a d) Can't say
13. f v =a and a = b, then _

ta) bAa B)cDa e)bh=a d) Can't say
14. If a=b and b O ¢, than :

fale+a bl bAc e} ase dicOa
15. If ¢ % b and b = a, then

lalaAc bela ey b Ot idieda
18. If ac + be, then '

{fa)a Oe ([ F. T4 feleab ) b %a
17. If a¢ % bd apd ab Aed, then

@) b Oe by b Aa {cla®e (d} Can't say

Directions (Questions 18 to 22) : In each of the following questions, the
Greek letters standing for arithmetical operations are given. Find the rela-
tionship which can definitely be deduced from the two relationships given
ab the fop.

ﬂpemtlons a is ‘greater than', f is less than', y is ‘not greater than', § is 'not
lesz than', i is ‘equal to’.

18. If A 2C and 2A 6 3B, then

{a) CpB b CsB {e) CaB d) CaB
18. If 3A o B and 3B o 2C, then
" {a)ldAal {b) BA aC (e) 2A80C {d) IAEC
20. If BO2C and 3Cy A, then

(x) BA&2A by BoA () 3B o 2A {d) BRA
21. If 3C52A and B e C, then

(m) 2A a 3B (b) 3B o 24 crBaA () 3B 6 24

22. If 3B 0 2C and 2A « 3C, then
() B4 A bYBBA ) BRA d)Ba A
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Directions (Questions 23 to 27) : In the following guestions the symbols
©, 5, 8 and = are used with the following meaning :

@ means ‘greater than'; © means ‘either greater than or egual to’; @ means
‘smaller than'; @ means ‘either smaller than or equal lo”; = means ‘equal to'.

Now in each of the following questions, assuming the given statements
to be true, find which of the two conclusions I and IT given below them islare
definitely true ¥

Give answer (a) if only conclusion I s true; (b) if only conclusion IT is
true; (c) if either I or Il is true, (d) if neither I nor Il is true and (e) if both
I' and Il are true.

23. Statements : MEN, L& N, M=P
Conclusions : [. N=P I.NaP

24, Statements : A@C, M&@F, C&F
Conclusions : . M=A ILCeaM

25. Statements: B@P, C&N, P=N
Conclusions : I. P&0C ILC&B

26, Statements : K@FP, 7@K, K&M

" Coneclusions : . Z=M ILZeM

27. Statements : Z@P, T-M, M@Z 5
Conclusions : L M®& Z . T&8 §

Directions (Questions 23 to 32) : In the following questions, the symbols,

@, @, = = and * are used with the following meanings : (Bank P.O. 1897)
‘PO Q" means ‘P is greater than Q’;
‘P © Q" means ‘P is greater than or equal to @;
‘P = Q" means ‘P is equal to Q';
‘P + Q' means 'P ig smaller than Q'
‘Faﬂ"‘m P is either smaller than or equal to @

Now in each of the following questions, assuming the given statemenis
to hm”ﬂiﬂnaﬂktwnmlmhmhmdﬂﬁun below them islare
definitely true.

Give answer (@) if only conclusion I is true; (b) if only conclusion II is

treee; (o) if either I or IT is true; (d) if neither I nor Il is true and (e) if both
T and IT are true.

28, Statements : POT, M+K, T=K

Conclusions : L. T@M IL T=M
29. Btatements : 5+M, M®L, L&Z
Conclusions : . 8=7 IL8=+L
30. Statements : D&F, F=8 8= M
Conclusions : L. D&M ILFa&M
31. Statements : J=V, V+N, R+J
Conclusions : . R+ N ILJEN

32. Statements:L©U,C+L, C@B
Conclusions : [. U=C ) ILL®B
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Directions (Questions 33 to 35) : In the following gquestions :
© ‘P« Q' means ‘P is greater than Q';
‘P +Q ' means ‘P is either greater than or equal to Q’;
‘P = @ means ‘P is equal to §;
PO Q' means *P iz smaller than Q%
‘P L1 @' means *P is either smaller than or equal lo @',
In each question, a statement is given followed by two conclusions I and
Il. You are lo consider each statement and the conclusions that follow and
decide which of the conclusions is/are implicit | (Assistant Grade, 1998)
33, Statements:G[S, F+ 8 TOG. /
Conclusions : . F=T I T=5
{a) Both I and II are implicit ib) Only 1 is implicit
(c) Neither [ nor II iz implicit {d} Only II is implicit
34. Statements : M=N, N«B, BOP
Conclusions : . P=N nLBOM
{a) Only 1 is implicit (&) Only I1 is implicit :
{c) Both I and II are implicit (d) Neither I nor 11 is implieit
35. Statements :NOT, T=P
Conclusions : [. P = N IH.-P=-N
{a) Either I or 1I is implicit (&) Only 1 is l:lnphm
(c) Only I1 is implicit . (d) Neither I nor II is imphicit
Directions (Questions 36 to 39) : Assume the following :
‘A @ B’ means ‘A is greater than B’;
‘A @ B’ means ‘A is either greater than or equal ta B';
‘A $ B’ means ‘A is equal fo B
‘A * B’ means ‘A is emaller than B’;
‘A # B’ means ‘A ig either smaller than or equal to B'.
In each qmﬁnu, two statements followed by two conclusions I and Il are

given. Assuming the statements to be true, state which of the conelusions I
and I islare definitely true f (M.B.A. 1998)

(iive answer (a) if only conclusion I is true; (b) if only conclugion IT is
true; () if either I or II is true; (d) if neither I'nor I is true; and (e) if both
I and I -are true.

86. Statements : P#Q, M*N§P

Conclusions: L. M@ P IIL.N&Q
37. Statements : L * M, R*T$L
Conclusions : L. T » M ILR&L
38, Statements : X @YRZ UBZ§V
Conclusions : I. V* U nxev
39, Statements : G*He K H@ Q&R
Conclusions : 1. G § Q LLR+*G

Directions (Questions 40 to 44} : In the following guestions, a stands for
‘equal to’; |} for ‘greater than'; v for ‘less than® and & for *nol equal to",

, (Hatel Management, 1996)
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If 6x o 5y and 2y 3z, then
(a) 2x B 3z (b) 4z p 82 (e) 2xyz (d) 4x o 32
If axy by, bxacz and b® u ac, then
{a) ax foy (b)ay ez le)yyz dyypz
Ifub:.}'acaz. bx pay and b® a ac, then
(a) ax® pez (6) a’® Bez () b B’z () bx* Pz
If bey v ax, cy @ bz and a® y be, then
(a) ex o abz (b} cxyabz (c) cx b abz d) cgr'ruﬂz

fa’xa byz, czx a by and ¢ a axy, then

* (a) abec a xyz (b) abe pxyvz fclabcdxye  (d) abeyxyz

ITA+B>C+D, B+E=2C and C+ D> B+ E, it necessarily follows thats
fa) A+B>2C (b)) A+B>2D (c}A+B=2E (d) A>C

(Hotel Management, 1995)
fA+D>C+E, €C+D=2Band B+E>C+D,it nmaﬁlar Eﬂlmtﬁm
gy A+B=2D )B+D>C+E (c)A+D>B+E {d}&+ﬂ~}ﬂ+ﬂ
- ‘{Hotel Management, 1995)
Directions (Questions 47 #o 51) : In each of the questions given below, use

the following notations : (8.B.LP.0. 1987)
A"B means "add B to A"; A'B means ‘subtract B from A';
A @ B means ‘divide A by B'; A‘mam‘muit&plyAhﬂ‘

Nmp, answer the following gl.lalhﬂ.l.
. The time taken by two running trains in crossing each other is calculated by
d1v1d.m|'¢' the sum nfﬁl]eﬂ‘ﬁimﬂf two trains by the total speed of the two trains,
If the length of the firet train is Ly, the length of the second train is L the

speed of thefirst traip is'V1 and the speed of the second train is V2, which of
the following expressions would represent the time taken ?

la) (Ly: Lays (V1" Va) (b) (Ly" La) @ (V1" Va)

{eV f{L1" La) @ (V1" Va)] » 60 {d) (Ly’ Lo) @ (V' Va)

{ef None of these

The total airfare is calculated by adding 15% of basic fare as fuel surcharge,
2% of the basic fare as IATA charges and Re 200 as airport tax to the basic

fare. If the basic fare of a sector is B, which of the following will represent the
total fare ?

(a)} B" (B = 15) @ 100" (B = 2) @ 200" 100

ik) B" (B =15) @ 100" (B « 2) & 100~ 200

{c) B" (B = 15)@ 100" (B = 2) ® 100" 200

{d) B' (B = 15)@ 100" (B « 2) @ 100" 200

e} 1Nu:lnm: of these

The profit percentage of a commaodity is worked out by multiplying the quotient
of the difference between the amount of sale price and the total expenses and

divided by the amount of total expenses by 100. If the sale price of an article
is 5, the total expenses are equal to the sum of the cost price (C), transportation
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costs (T}, labour charges (L), which of the following expressions would indicate

the profit percentage ?

@) [IB-(C+L+T)+(C+L+T)x100] (b) [{& (C"L" Tyl & (C"L" T) @ 100]

(e) [18' (C"L" T} @ (C"L" T) » 100] (d) [{8" ("L Ty} + (C"L" T) & 100)

{2} None of these

While considering employvees for prometion, an organisation gives 2 marks for

every year of service beyond the first two years, four-thirds of the marks obtained

in an examination out of 20 marks, five marks for each level of education-matncula-

tion, graduation and post-graduation. Which of the following represents the total

marks a candidate gets if he has put in T years of service, obtained K marks

in the examination and passed Xth, XiIth and Graduation level sxaminations 7

@) (T'2)+3"'5+2"4+T@3 B (K «e2'5+3"4=T@3I

) (T2)e2°6=3"4=K@3 (T2« 2" 6=3"4=+K@3

{2) Mone of these

In a semester system of examination, the total marks obtained is arvived at by

a.dd.mg 10% of the marks obtained in first peciodical, 16% of the marks sbtained

in the second perindical and T5% of the marks obtained in the final examination.

If a student secures P marks out of 1560 in first periodical, T marks out of 180

in second periodical and M marks out of 400 in the final examination, which of
the following will represent the total marks obtained by him ¥

(ad (P& 150 = 100" (T @ 400 » 156)" (M & 180 « TH

(b) (P @ 150 » 10)" (T @ 180 » 16)" (M & 400 « 75)

(e} (P 150 = 107" (T » 180 @ 15)" (M = -Imﬂ'm

{d) (P& 10 » 10)" (T @ 180 « 15)" (M @400 = 75)

(e) None of these

ANSWERS

Aa): aBb and 4B = 8t Band bt ¢ = at ¢ = afe

L id): iCmand fAm = 4 mand [ m = [<m = [Fm,

a.

&) “’ﬂhuqualnﬂh_ﬁmtnhnn:
lafa<b=r = a<h=ec, which is false.
b} a <b<e = bh>a<e, which is true.
ieYa<b=c = c3 b>a, which ia falae.
‘{;ﬂn-:bm: = b>at e, which iz false.

4.l With umial notations, we have !

(@ha»b<ce = b<eca, which is false.
Mla>b<e = ¢ccb>a, which ia false.
lelasbee = ¢>b<a, which is trua.

{dya>b<c = ck b4 a, which iz false.

B. (b} - With usual notations, we have :

fa)ad b ¢ = a<hs>e, which is not true,
Blak bt ¢ = ck bt a, which is true,

clas bt ¢ = a=b=e¢ which is not true.
dyatk 4 ¢ = bi at e, which is not true,

6. (d) : With usial notations, we have :

@lazbse b bca>e, which is false.
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7. (b} :

B. id) :

B b
10 el -

1L {a}:

12, ()

1% () :
14. fal
15. (a}k:
18. ) ;
17. {d)

18. tal ;

18, ik :

20, (d) ;

21, (b}

Bla>bse 3 e<bh<ca, which in false.
fcla=bze b e<caxb which ia false
{asb>e b bcace, which is true,
With usual notations, we have :
l@la>bece & c>baa, which is falss.
F)ae>b<c 2 bcasc, which is troe.
felazbce & bwaee, which is false
With wsual notations, we have :
lalaebac = g>b>c, which is false.
blasbhee = a<ch<ce, which in false.
lcla=bze = ad b4 c, which is false.
jna2hiand (268r) > a>2band 26 ¢ r

= a>2band 2bz2r = axrie. gar

(Zx&yland (wBiz) = x>y and y =3z
= Ix=37 fe, x5l
{4x F by} and (Gy E 35} = (4 < Sy)and (5v 3 39)
= (dz < By) and (Gy < 33)
= dx < 38 or dx = 3u
= dx F 3sordr A da.

eaAband bde = o>b and b is a litthe more than c,

= a>c = c<aircRa
e=ganda=b = cwaanda=b = bua fu b=a
axbandb Qe = o isa little loss than b and bee
= ais a little less than ¢
= ¢is a little mors than'a ie.c+a
cfbandbsa = c<bandh iz a litthe loss than o
S Ee<@ = adc e ade
ac+be 'S adsbe 2 asbh = bca e b%a.
ac % bd and ab A ed ‘= ae < bd and ab = od.
Clearly, po sopclusion can be drawn.
Aa2C and A0 3B = A >2C and 24 = 3B
¥ = 2A 5 4C and 2A =3B
= 3B>4C = C<B ie CBB.
SAcBand 3B 2C = 3A>Band 3B > 2C
33&33&!1&;3}':
a a3

3 i.ﬂz-iﬂandgﬂz-ﬂ

= i;.a..«n = 5A>C ie. SAC,

BO2Cand 3CvA = B=2Cand 3C+ A
= B=2Cand 3C s A
= B=2C<3CsA
= BecAle BRA

Io2AandBaC = 3C4 2AandB>C
= JCz2Aand B=C -
= 3B>8Cand 3C = 2A
= 3B>2A ie 3Ba2A

Reasoning
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2% (c): 3B62C and 2A o 3C = 3B =2C and 24 > 3C.
]

= EE:HCmdSC{M

a 4
= 42B-r.ml. = Bcgh

= BechAie, BPA
23, () : Given statements : M<N, L>N, M=P.
To verify the given conclusions, we find a relation between N and P.
Now, Nz:M, M=PzNz2P.
Clearly, both I and II are false.
24. (b} ; Given statements : AsC, MsF, C=F
1. Relation between M and A :
MzF F<C, CzA = no definite conclusion.
Bo, | is not true.
I1. Relation between C and M :
T C»F, FzM =C>Mie CaM
So, I1 is true. i
25. (e} : Given statements : B;i_-l", C=N, P=N
I Relation between P and C:
P=N, N<C = P<C iec P<C.
So, I is trus.
[l. Relation between C and B
C>N, N=P. P:B=C>B ieC®B_
8o, I is true. '
26. (b} : Given statements : K <P, Z:>K. KM
Relation between Z and M o
Z-K KoM = Z-M iaZaM
8o, 1 ia false and II istrue, ;
27. (e} : Given statements : &< P, T=M, Mz P
I. Relation batween M and Z :
MoBP>Z = M>Zie M2Z
So, Tis true.
Il Relation between T and P.
T=M M2P = TzPie TOQP
o Bo, Il is true,
‘28, (c) : Given statements : P>Q, M<K, T=K.
Relation between T and M :
T=K, KM = TeM = ToMoerT=M
= TeMor T=M.
Bo, either I or II is true.
29, (d) : Given statements : S<M, M>L Lz2
1. Relation between 8 and 2 :
B<«M, M>L, LzZ = no definite conclusion.
8o, [ is not true.
“II. Relation between S and L :
8<M, M>L = nodefinite conclusion.
S0, [1 is also not trua.
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30. (d) : Given statements : D>F, F=8, 8z M
[. Relation between I} and M ;
D>F, F=8, 8 =M = nodefinite conclusion.
80, I is not true.
II. Relation between F and M :
F=88zM = FPsM.
S0, FEOM ie F2=Misnottroe. 2
Thus, IT is false,
31. (s) : Given statements : J=V, V<N, R<J
1. Relation between R and N :
Rsd, J=V, V<N = R<Nie R+N.
80,1 is true.
1. Relation between J and N -
J=V, VaN = J<N ie J=+N.
Bo, JEN ie, J2N is not true.
Thus, II is false.
32. (b} : Given statements ; LzU, C<L, C>B
L Rahhonmu-;dﬂ
UsL LzC = no definite conclusion,
Bo, 1 is not true.
[1. Relation between L and B :
L>C, C3B = L>B ie L@B‘:
So, II ia true.
33. (b) : Given statements : G<8, Fz5 TeG
L Relation between F and T : .
Fz8,8206,G>T = FP-Tis FeT
o, TR ”~
I1. Relation between Tand 8
T<G,G<6 = T<Sie. TOS
&T-Hmmttm
Mﬂﬁﬁhﬂ.
34. () § Qiven statements - M=N, N>B, B<P
L nulamba:mrmdu
" P>B,B<N = no definite conclusion.
Bo, I ie not true.
II. Relation between B and M :
B<N,N=M = B<Mie BOM.
So, H is true,
85. (a) : Given statements : N<T, T=P.
Ralation between P and N -
P=T, TeN = PN = P>N or P=N
= PeN or P=N.
So, either I or 11 is implicit.
36. (b) : Given statements : Pz Q, MzN=P
I. Reilation between M and P :
MzN=P = MzPie M+ P
So, I is not trua.

Reasoning
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a7. (a);

88, (e) :

30, (d) :

40. (b) :

-ﬂ‘.ﬁﬂ 1

43 i} :

II. Relation between N and @ :
N=P PzQ = N=Qie Nit Q.
Ba, 11 is true.
Given statements : Lz2M,EzT=L
1. Relation between T and M :
Tul, LM = T:Mie T+M
So, [ iz true.
I1. Relation between R and L :
BE=zT=L > RzLie R*L
8o, II is not true.
Given statements : X>Y>Z, U>Z=V
I. Relation between V and U ;
VaZ<ll = V<l e V=1,
Ba, [ is truse.
II. Relation between X and V :
A>¥Y>7 = XL
Now, X>Z and Z=¥ = K>V ie X@YV
Sa, I1 is trua. . :
Given statements : G<HsK H=Q=R
I Relation between G and Q.
G<H, H>Q = no definite conclusion.
So, I is not true. |
II. Relation between R and G :
R=Q<H = R<H
Now, R<H and H>G = nodefinite conelusion.
So, 11 is not true.
Grafyand2y i = Gi=byapddy -3
= by andy> o
162

= é'r-ﬁmdﬁy:% = ﬁx:-\T

‘= IZx> 1l = dx>5
= dx>3z {e. dxp3z

#Tb}'.ﬁ;;ﬂlﬂﬂbauﬂr = ax<by, bx=cz and b® = ac.
br=cz = blr=bezr = oacz=bez = ar=be
ax<by = be<by = z<y = yrzie ypa

abzy aclz, bz payandb®aac = abry =’z bx>ay, 8% = ar.

Now, bx>ay = b'z>aby

= acx>aby (- b2=aﬂl
= cx=by = by<ex,
neztuhyuaxbyr:m = crcar
= ar > i.e,uxiﬂc-?.
beyvar,cyabzanda®ybe = bey cax, oy = bz, a® <be
ey=bz = ely=beraa®s = elysa’s

ax>bey>a’y = ax>a’y = xvay
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= cxeacy = cx>abz (. cy=bz)
= ¢x » ahz {2 exBabz
44. {a) : gﬂxubyz,mab?y and ¢®z a axy = o’z = byz, czx = by, *z = axy.
czx=b'y = c’:.tsc#’y = mﬂ!=cﬁay (-t = axy)
= axd=ch?
Now, a’r=byz = a’=bxyr = aar’=buys
= ach®=bxyz (. ax®=cb?
= abe=xye ie, abcoxyz
45. (ad: A+B>C+D. C+D>B+E, B+E=2C
= A+B>B+E B+E=2C = A+B>2C
48. id): A+D>C+E = A+D>(2B-D)+E (. C+D=2B
= A+D>(B+Ey+(B-Dy
= A+D=>(C+DY+(B-Dy
= A+D>B+C
47.(5) : Clearly, time taken =""::f m";‘:“m
L - L 8 (Vi Va)
48, (b)Y : Total fare =B + 16% of B+ 2% of B + 200
Btﬂi Bxﬂ

-.B+ 100 = 4 200

=B (B+15)@ 100 (B*2)@ 1007200,

48, (¢} : Profit m%:%ﬁm

= (5 (GL" TH B(C"L" T) » 100
50. (e} : Clearly, t-ntal mlfh '-'i'r,-‘.mu'z-q- T+5 x @

(P24 K@36e2.
B1. (b) : Marks.out of 150 in first periodical = P.

ARG oWRe™WO0 in first periodical = [}'— x mu]

150
Marks out of 180 in second periodical = T.
. Huhuutdimmumdmodim [——::l[)l}]
| Marks out of 400 in final examination =M.
1 ; Marks out of 100 in final examination =[ﬁ‘%:1m]-
i & Poead minrke

mmr[—x:m]] [E‘knf[—-—xmn]] 'Tﬁ%nf[%xlm]]
(] o] Rl
)

= (P & 150 = 10" (T @ 180 » 15{" (M @ 400 = 75).




13. LOGICAL SEQUENCE OF WORDS

In this type of questions, a group of words is given. The candidate is required
to arrange these words in a meaningful order such as the sequence of occurrence of
events, sequence from a part to the whole, sequence of increasing/decreasing size,
value, intensity ete., and then choose the correct sequence accordingly.

Ex. 1. Arrange the following in a meaningful sequence :

1. Consultation 2. lness 3. Doctor
4. Treatment 5. Recovery
{a) 23,145 {(b)2,34,15 icy43,1,25 (d) 5,1,43,2

Sol. We know that illmess occurs first. One then goes to the doctor mm-
consultation with him, undergees treatment to finally attain recovery.
Thus, the correct order is 2, 8, 1, 4, 5.

Hence, the answer is (a).

Ex. 2. Arrange the following in a logical order :

1. Fuphoria 2. Happiness 3. Ambivelence
4, Ecstasy 5. Pleasure
(a)4,1325 {b) 3,251,4 (€)1 2,1,345 (d) 14,253

Sol. All the given words stand for ‘Joy', but the intenaity increases in the order —
Ambivalence, Happiness, Pleasure; Euphoria, Ecstasy.
Thus, the correct order is 3, 2, & 1;4.
Hence, the answer isi(b).

Ex. 3. Arrange the following in @ meaningful order, from particular to general :

1. Family ‘2. Community 3. Member
4. Locality 5. Country
la) 3,1,24.8 (h) 3,1,2,5,4 {¢) 3,1,4.25 {d).3,1,4,5,2

(Asstt. Grade, 1996)

Bol.. lelyf a member is a part of a family, which in turn is a part of community.
The community lives in a locality which lies within a country.
Thus, the correct order is 3, 1, 2, 4, 5.
Hence, the answer ig (a).

| EXERCISE 13 |

Directions (Questions 1 to 33) : in each of the following guestions, arrange
the given weords in o meaningful sequence and then choose the most appro-
priate sequence from amongst the alternatives provided below each question.

1. 1. Birth 2. Death 3. Funeral
4, Marriage 5. Eduecation {Assit. Grade, 1905)
(z) 453,12 (h) 2,3.45.1 {e) 1,654,233 (d) 1,3.45.2
2. 1, Site 2, Plan 3. Rent
4. Money 5. Building {Central Excise, 1988)
(a) 41,2563 (b} 34,251 e) 235,14 {d) 12354

455
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4.

TI‘

10.

11,

12,

13.

il

15.

18.

17.

1. Table

4. Seed

() 4,632,1
1. College
4. School
(a) 1,2,4,3.6
1. Reading
(a) 1,3,24

1. Cutting
4. Market

(o) 1,245.3
1. Income

4. Well-being
(a) 1,3,2,5,4
1. Milky way
4. Earth

(n) 43,2,5,1
1. Sea

4, River

{a) 54,32, 1
1. Poverty

4. Unemployment

(a) 34,25,1
1. Yarn

4. Cotton
(a) 2,4,1,5,3

4. In
(@) 5,2.3.4.1
1. Windows

4. Foundation
{e) 453,2,1,6
1. Post-box

4. Delivery
{a) 3,24,6,1

1. Key

4. Koom

{a) 51,243

1. Gold

4. Platinum
(a) 24,351

1. Cut

4. Meagure
{a) 4,3,1,5,2

Reasoning
2. Tree 3. Wood
5, Plant (C.BL 1994)
ib) 4,5.2.3.1 (e} 1,3,24,56 () 1.2.34.5
2. Child 3. Balary
5. Employment {Central Excise, 1952)
(b) 24153 {c) 4,1,3,5,2 {d) 5,3,2,1.4
2. Composing 3. Writing 4. Printing
(b) 234,1 c) 3,124 id) 3.2,4,1
(Railways, 1896)
2. Dish 3. Vegetable
5, Cooking (Asstt. Grade, 1994)
(b) 32,514 {c) 4,3,1,5.2 (d) 53,214
2. Status 3. Education o N
5. Job (8.8.C. 1988)
(b) 12534 {¢) 3,1,52.4 (d) 3,5,1,2,4
2. Sun 3. Moon )
5. Stars "(C.BL 1983)
{b) 34251 () 234,51 d)1,4,3256
2. Rivulet A, Ocenn
5. Glacier (L Tax & Central Excise, 1805)
(b) 5,4,2,3,1 () 524,18 (d) 5,2,1,3,4
2. Population 3. Death
5. Diseasa (8.5.C. 1998)
(b) 2.4,1,5,3 () 23,451 (d) 1,2,34,6
2. Plant 3. Baree
5. Cloth {Assit. Grade, 1908)
b) 24,35,1 {c) 2,4,5,1.3 (d) 2,4,53,1
\ 2. Adulthood 3. Childhood
5. Benescence (U.D.C. 1988)
b 4,32,16 (e) 43,1256 (d) 24,3,1,5
2. Walls 3. Floor
5. Roof 6. Room (C.B.L 1885)
(b) 4,3,6,6,2,1 c) 42,1536 (d) 4,1,5623
2. Letter 3. Envelope
5. Clearance
b) 32,164 (e) 32,145 {d) 2,3,14,5
2. Door 3. Lock
5. Switch on (Assit. Grade, 1985)
(b) 42,153 ) 1,2354 (d) 1,3,24.5
2. Iron 3. Band
5. Diamond {Asstt. Grade, 1997)
{b) 32,154 (c) 4,5,1,3.2 d) 54,3.2,1
2, Put on 3, Mark
b. Tailor {Central Excise, 1904)
(b) 3,1,54.2 (e) 2,4,3,1,56 id) 1,324,565
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Logieal Sequence of Words

18.

l’lﬂ

21.

31.

1. Rainbow
4. Happy
{a) 2,1,4,3,5
1. Study

4. Earn

ta) 1,2,3.45
1. Shoulder
4. Palm

(a) 5,4.2.3.1
1. Frog

4. Snake
() 65,3421
1. Punishment
4. Crime
(a) 5,1,2.3.4
1. Child

4. Infant
{a) 1,3,5.2.4
1. Mother
4. Cry

(a) 1,5,2.4,3
1. Travel

4. Berth/Seat number

6. Availability of berth/seat for reservation

{a) 6,2,5,4,8,1

1. Curd

4. Milk

(a) 5,234,143
1. Elephant
4. Tiger

(a) 1,3,642
1. Probation
4. Appointment
{a) 5,62,34,1
1. District
{a) 2,143

1. Index

4, Chapters
(a) 3,256,14
1. Country
4. Wood

(a) 1,3.5.4.2

457
2. Rain 3. Sun
5. Child (8.8.C. 1983)
(b} 23,154 c) 4,2,3,5,1 (d) 45123
2. Job 3. Examination
5. Apply (L. Tax & Central Excise, 1992)
(b) 1.3,254 {c) 1,354,2 id) 1,3,5.2.4
2. Wrist 3. Elbow
5. Finger
(h) 34521 (c) 3,14.2,56 (d) 2.4,5.3,1
2. Eagle 3. Grasshopper
5. Grass (8.8.C, 19986)
{b) 5,3,1.4,2 (c) 3,4,25.1 (d) 1,3,52,4
2 Prison 3. Arrest
4. Judgement (Assit. Grade, 1998)
(b) 4,3,6.2,1 () 43512 d) 23,146
2. Job 3. Marriage
5. Education (8.5.C, 1993)
6) 38,5214 (c) 4,1,3,5,2 {d) "I“'Mla
2, Child 2. Milk
5. Smile ' (Asstt. Grade, 1995)
(hy24.135 fe) 243,15 (d) 3.2,1564
2. Destination 3. Payment
5. Reservation
(b) 5,341,862 le) 2,6,3,5,4,1 (d) 1,2,5,4,3,6
(Central Excise, 19894}
2. Grass 3. Butter
5. Cow (Assit. Grade, 1984)
(b)5,2,34,1 fc) 4,2,53,1 id) 2,5,4,3,1
2. Cat 3. Mosquito
5. Whale (Assit. Grads, 1008}
(b} 2,5.1.4.3 (c) 324,156 (d) 63,124
2. Interview 3. Selection
5. Advertisement 6. Application
(b} 5,6,3,2,4,1 {c) 564,2,3.1 (d) 654231
2. Village 3. State 4. Town
(b) 2,34.1 (e} 2,4,1.3 {dy 3,214
(8.8.C. 1998)
2. Contents 3. Title
5, Introduction
(b) 23451 (c) 5,1,4,2.3 (d) 32541
2, Furniture 3. Forast
5. Trees (B.5.C. 1983)
b)) 14325 ey 243,15 (d1 52314
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33.

Reasoning
1. Protect 2, Pressure 3. Relief
4. Rain 5. Flood (I. Tax & Central Excise, 1084)
(a) 24315 (h) 24,513 {c) 2,5,4,1,3 id) 32451
1. Andhra Pradesh 2. Universe 3. Tirupathi
4. World 6. India (Asstt. Grade, 1985)
(@) 1,5324 (b} 2,1,3.5.4 (c) 3,1,6,4,2 id) 54,213
Arrange the following in a meaningful order ; (C.B.L 1997)

Doctor, Fever, Medicine, Medical shop

(o) Medicine, Doctor, Medical shop, Fever
(b) Doctor, Medical shop, Medicine, Fever
(c) Fever, Doctor, Medical shop, Medicine
(d} Medical shop, Medicine, Fever, Doctor

35. Which would be the proper order of the following (in ascending order) 2

1. Trillion 2. Thousand 3. Billion -

4. Hundred 5. Million (8,5.C. 1983)

{a) 1,2,43,5 (b} 1,5,3,2,4 (c) 4,2,3,5,1 (d) 42,531
36. Which of the following number sequences represents @ correct sequence from a

part to the whole ?

1. Caste 2. Family 8. Newly married couple

4. Clan 5. Species {C.B.1. 1983)

{a) 2,3.14,5 732,145 0 Tk W) 845,12 i) 45321
37. Arrange the following items from general to particular :

1. Animal 2. F'élﬂte 3. Leopard

4. Mammal ‘5. Vertebrate 6. Cat

(@) 154236 - () 143256 () 1,3,5.4,2.6 (d) 1,234,586
38. Which numl?' sequence of the following represents a correct sequence from

small to big

¥ 'ﬁumluw 2. Flat 3. Cottage

4. Hﬂnl& 6. Palace 6. Mansion

{a) 3,2.1 4 6,0 (&) 3.24,1586 (c) 324,185 () 564,123

ANSWERS

1.
11.
21.

) Zia) Bid) 4B B 6Gid T B(b) Bin 10 (b)
@) 12. () 1% () 1400 16 {d) 16 (b) 17.(a) 18 (b) 18.(d) 20. {a)
() 22 (c) 28.(d) 24.(b) 26.(c) 26.{(a) 27.0c) 28 (o) 2D.{c) 30. (d)

3L (e} 32. () B33 (c) B4 (c) 85 (@) 86.(b) 87. (a) BB (0




14. ARITHMETICAL REASONING

TYPE 1 : CALCULATION-BASED PROBLEMS

Ex. 1. In a chess tournament each of six players will play every other player exactly
once, How many matches will be played during the tournament ?
() 12 (b 15 {c) 30 (d) 36

(C.BLL 1985)

S8ol. Clearly, we will consider the following matches ;
(i) matches of first player with other 5 players;
(ti} matches of second player with 4 players other than the first player;
{iii) matches of third player with 3 players other than the first and ,ﬂemﬂ
players;
(iv) matches of fourth player with 2 players other than the first three players; -ld
{v) match of fifth player with the sixth one.
S0, number of matches played dlmn: the tournament =5 -,!uh- 3+2+1=15
Ex. 2. A man has a certain number of small boxes to pack into parcels. If he packs
3, 4, 5 or 6 in a pareel, he is left with ope over; if he packs 7 in a parcel,
none is left over. What is the number ﬂbﬂ:ﬂ,bum have to pack ?
{a) 106 (b) 301 fc) 309 (d) 400
Sol.  Clearly, the required number would be such that it leaves a remainder of 1
when divided by 3, 4, 5 or 6 lndnu remainder when divided by 7. Such a
number 18 301.
Hence, the answer il..{.bi;
Ex. 3. A B, C and D play a game of cards. A says to B, “If I give you 8 cards, you
m]l?mwumyuﬂhanard[sha]!haveﬂleasthanwhatﬂha&ﬁ]m if
[ take 6 cards from C, 1 shall have twice as many as D has.” If B and D together
have 50 cards, how many cards has A got ? (Hotel Management, 1887)

la) 40 (b) 37 {e) 27 (d) 23
Bol.. Clearly, we have :
; B+8=C ki) A-B=C-3 v LEE}
% A+6=2D Aiid) B+ D =50 Aiv)
I Putting C = A -5 from (i) into (i}, we have :
B+8=A-5 or A- B=13 AU
Putting D = 50 - B from {iv) into (i), we have :
A+6=100-2B or A+2B=94 Awi)
Solving (¢v) and (i), we get B=27 and A = 40.
.. A has 40 cards.

Hence, the answer is (a).

Ex. 4. In a group of cows and hens, the number of legs are 14 more than twice the
number of heads. The number of cows is

la) 5 57 (e} 10 d) 12
459
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Bol. Let the number of cows be x and the number of hens be y. Then,
oumber of legs in the group =4z + 2y,
number of heads in the group=x +¥.
So, de+2y=x+y)+ 14 or dx+Zy=-2x+Pp+14 or Zx=ldorx="T
- Mumber of cows = 7.
Hence, the answer iz (b).

Ex. 5. A worker may claim Rs 16 for each km which he travels by taxi and Rs 5
for each km which he drives his own car. If in one week he claimed Rs 500
for travelling 80 km how many kms did he travel by taxi 7

la) 10 (b) 20 e} 30 {d) 40
Sol. Let the distance covered by taxi be r km.
Then, distance covered by car = (80 - z) km. =
15« + 5(80 - 2)=500 or 15c+400-5c=500 or 10k=100 or x=10,
~. Distance covered by taxi = 10 km.
Hence, thmu {a).
TYPE 2: DATA-BASED QUESTIONS

Ex. 6. The following questions are based on the gimﬂ;ihmnnmmmn

(A) Candidates appeared 10800
(B) Passed in all the five subjects: 5686
(C) Passed in three subjects only 1458
(D) Passed in two subjects only 1260
{E) Passged in one subject only 836
(F) Failed in English only - 78
(G) Failed in Maths omly 275
(H) Failed in Physics only- 149
(I) Failedin Gl:hm.ldﬁr only 147
() Failed in Bislogy only 221

Q1. How many candidates failed in all the subjects ?

@) 4815 (b) 3317 (c) 2867 {d) 362
Sol. Clearly, candidates failed in all the subjects
"= (Candidates appeared) — (Candidates failed in 1, 2, 3 or 5 subjects
+ Candidates failed in 1 subject only)
= 10600 - (5685 + 1488 + 1250 « B35 + T8 + 275 + 149 + 147 + 221}
= 10500 - 10138 = 362,
Hence, the answer is (d).
Q. 2. How many candidates passed at least in four subjects 7
la} 6555 {b) 5685 ey 1706 {d} BT0
Bol. Candidates passed at least in four subjects
= (Candidates passed in 4 subjects) + (Candidates passed in all 6 subjects)
= (Candidates failed in only 1 subject) + (Candidates passed in all 5 subjects)
= {78 + 275 + 149 + 147 + 221) + 5685
= 870 + 5685 = 6555,
Hence, the answer is {a).
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@. 3. How many candidates failed because of having failed in four or less subjects 7
la) 4815 (b} 4453 c) 36148 (d) 2368
Bol. Candidates failed in four or less subjects
= {Candidates failed in only 1 subject) + (Candidates failed in only 2 subjects)
+ (Candidates failed in only 3 subjects) + {Candidates failed in only 4 subjects)
= (Candidates failed in only 1 subject) + (Candidates passed in only 3 subjects)
+ (Candidates passed in enly 2 subjects) + (Candidates passed in only 1 subject)
= (T8 + 275 + 149 + 147 + 221) + 1498 + 1250 + 835
= 4453,
Henee, the answer is (b).

TYPE 3 : PROBLEMS ON AGES

- Ex. 7. Heens is twice 62 old as Sunita. Three vears ago, she was three times as old
a5 Sunita. How old is Reena now 7 {L. Tax & Central Excise, 1095)
{a) 6 years th) T years {c) B years {d) 12 years
Sol. Let Sunita’s present age be x years.

Then, Heena's present age = 2x years.

Three years ago, Sunita’s age = (x — 3) and Reena’s age = (2£=3).

So, (Zx=-3)=3x~3) or Zx-F=milz-9 or x=6

. Heene's present age = 2x =12 years.

Hence, the answer is ().

Ex. 8. The age of & father 15 twice that of the élder son. Tan vears hence the age
of the father will be three times that of the younger son. If the difference of
ages of the two sons is 15 years; the age of the father is
(=) 50 vears (b) 55 years (e¥ B0 years () T0 years

Bol. Let the age of the elder son be x

Then, age of younger gon = (x — 15);"and
age of the father =2x.
So, 2c+00=-z-16+10) or 2x+10=3x-15 or x=25.
. Father's age = 2x =60 years.
Henee, the answer is (a).

: TYPE 4 : VENN-DIAGRAM BASED QUESTIONS
Ex. 8. Consider the diagram given below : (LAB. 19%94)

English Hindi

(22
w Mathematics

Five hundred candidates appeared in an examination comprising of tests in
English, Hindi and Mathematics. The diagram gives the number of candidates
who failed in different tests. What is the percentage of candidates who failed
in at least two subjects ?

{a} 0.078 (h) 1.0 {c) 6.8 (d) 7.8
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Sol. Clearly, number of candidates who failed in at least two subjects

= pumber of candidates who failed in two or more subjects
={10+12+12+5)=139

. Required %percentage = 5330 x mu]% = 7.8%.
Hence, the answer is (d),
Ex. 10. I[n a group of persons travelling in a bus, & persons can speak Tamil, 15
: can speak Hindi and 6 can speak Gujarati. In that group, none can speak
any other language. If 2 persons in the group can speak two languages and
one person can speak all the three languages, then how many persons are
there in the group ? (LA.S. 1887)
la) 21 (b) 22 {e) 23 id) 24
Sol. Let circles X, Y, and Z represent persons who can speak Tamil, Hindi and
Gujarati respectively.

X Y

(BNZRN

L

7
Tamil-speaking persons =A+B+D+E=8 i}
Hindi-speaking persons =B+ C+E +F=15 )
Gujarati-speaking persons =D+ E + F'+ G=6 ok EEE)
Persons speaking 2 lan,pmﬁt- B+ D+F=2 et}
Persons speaking all 3 ]w E=1 w1}
Clearly, we have : .ﬁ+B +D=5 ki)

BiC+F=14 (i)
D+F+G=5 Auiid)
B+D+F=2 lix)
Subtracting (ix) from (vi), we get -
A-F=3 i)
Adding (vii) and (viii), we get :
B+C+D+2F+G=19 - Axi)
Adding (x) and (xi), we get :
A+B+C+D+F+G=22
or A+B+C+D+E+F+G=23 (- E=1)
- Total number of persons = 23.
Hence, the answer iz (c).
| EXERCISE 14 |
1. A shepherd had 17 sheep. All but nine died. How many wag he left with ?
{a) Nil ib) 8 e} 9 (d) 17

(Railways, 1965}
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A bird shooter was asked how many birds he had in the bag. He replied that
there were all sparrows but six, all pigeons but six, and all docks but six. How
many birds had he in all ?

@) 8 (h) 18 (c) 27 (d) 36

What is the smallest number of ducks that could swim in this formation — two
ducks in front of a duck, two ducks behind a duck and a duck between two
ducks ?

() 3 (b) 5 {c) 7 id) 9

A group of 1200 persons consisting of captains and soldiers is travelling in a
train. For-every 15 soldiers there is one captain. The number of captains in the
group is {(Hotel Mansgement, 1992)
{a) B5 {(b) BO {e) 75 id) 70

Aruna cut a cake into two halves and cuts one half into smaller pieces of equal
size. Each of the small pieces is twenty grams in weight. If she has seven pieces
of the cake in all with her, how heavy was the original cake ? (LI.C. 1994)
(a) 120 grams (k) 140 grams (¢} 240 grams

(d) 280 grams {e) None of these

Fﬁztbumhufhnmm'-hu:twnummybanmnuamﬂhumh 1f the

second bunch has 3 bananas less than the first bunch, then the fiumber of
bananas in the first bunch are (8.C.R.A. 1996)
{a) 9 ® 10 (12 (d) 15

each other once. Hmvmwhmdahakqawﬂlthm-eheﬂhuget}mrf (MLB.A. 1997)

{a) 20 (b) 45 (c) 55 id) 90

A student got twice as many sums wrong as he got right. If he attempted 48
sums in all, how many did he :ﬂﬂ\re correctly 7 (M.B.A. 1584)
(a) 12 k) 16 {c) 24 (d) 18

The num,hrq!bqya. ina class is three times the number of girls. Which one of
the f-:nl'lmlingnumhars ‘eannot represent the total number of children in the

class ? (8.C.R-A. 1983)
(@)48 (b) 44 (c) 42 () 40
‘A placed three sheets with two carbons to get two extra copies of the original.

'ﬂl.ep he decided to get more carbon copies and folded the paper in such a way
that the upper half of the sheets were on top of the lower half, Then he typed.
How many carbon copies did he get 7

{a) 1 (b) 2 {e) 3 (d) 4

A motorist knows four different routes from Bristol to Birmingham. From
Birmingham to Sheffield he knows three different routes and from Sheffield to
Carlisle he knows two different routes. How many routes does he know from
Bristol to Carlisle ?

lz} 4 (k) 8 {c) 12 (ed) 24

In a class, there are 18 boys who are over 160 cm tall. If these constitute three-
fourths of the boys and the total number of boys is two-thirds of the total number
of stodents in the class, what is the number of girls in the class ¥ (LA.S. 1992)
la) & (b 12 ic) 18 (d) 24
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14.

15.

16.

17.
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Reasoning
A bus starts from city X. The number of women in the bus is half of the numbe
of men, In city ¥, 10 men leave the bus and five women enter. Now, number
of men and women is equal. In the beginning, how many passengers entered
the bus 7 (L. Tax & Central Excise, 1965
(a) 15 ib) 30 () 36 (d) 45
In a class, 20% of the members own only two cars each, 40% of the remaining
own three cars each and the remaining members own only one car each. Whick
of the following statements is definitely true from the given statements 7
{a) Only 20% of the total members own three cars each.
(b) 48% of the total members own only one car each.
{c) 60% of the total members own at least two cars each.
{d) 80% of the total members own at least one car.
(e} None of these (Bank P.0. 1968
Between two book-ends in your study are displayed your five favourite puzale
books. If you decide to arrange the five books in every possible combination anc
moved just one book every minute, how long would it take you ?
(a) 1 hour (b) 2 hours (c) 3 hours _ (d) 4 hours
I have a few sweets to be distributed. If 1 keep 2, & or 4 in & pack, 1 am lef
with one sweet, If | keep 5 in upqu,lmluﬁi&hih%ﬁbatisthamhﬁmun
number of sweets I can have to pack and distribute 7 (Assistant Grade, 1992
(a) 25 (&) 37 (e) 54 (d) 65
Mr. Johnson was to earn £ 300 and a free holiday for seven weeks' work. Hi
worked for only 4 weeks and earned £ 30 and a free holiday. What was th
value of the holiday 7
(@) £ 300 (®) £ 330 (c) £ 360 (d) £ 420
In acﬁcketmaﬂﬂnﬂmnﬁ,ﬂiﬂ,ﬂ and E scored an average of 36 runs
D scored 5 more than E; E scored 8 fewer than A; B scored as many as D an
E.@Wnﬂﬂmcm 107 between them. How many runs did I

{a) 62 (b) 45 {c) 28 (d) 20

-‘ll;-ﬁf&ﬁh£3marethan1{m.hutthan}(enwin:mthebmnnd trebles hi:

21.

money, so that he now has £ 2 more than the original amount of money tha

“the two boys had between them. How much money did Mac and Ken hav

between them before Ken's win 7

a)£9 by £ 11 {c) £ 13 d) £ 16

Robin says, “If Jai gives me Rs 40, he will have half as moch as Atul, but i
Atul gives me Rs 40, then the three of us will all have the same amount.” Wha
is the total amount of money that Robin, Jai and Atul have between them 7
(a) Ra 240 (b) Rs 320 {c) Re 360 id) Rs 420

A, B, C, D and E play a game of cards. A says to B, “If you give me three cards
you will have as many as E has and if I give you three cards, you will have a
many as D has." A and B together have 10 cards more than what D and I
together have. If B has two cards more thar what C has and the total numbe:
of cards be 133, how many cards does B have ? {Hotel Management, 1995
(a) 22 ib) 23 ic) 25 {d) 36
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22,

27.

A B C,Dand E play a game of cards. A says to B, "Il you give me 3 cards,
you will have as many as | have at this moment while if D takes 5 cards from
you, he will have as many as E has” A and C together have twice as many
cards a5 E has. B and D together alao have the same number of cards as A and
C taken together. If together they have 150 cards, how many cards has C got ?

ia) 28 (b} 29 ic) 31 (d} 35

(CAT. 1987)
In a caravan in addition to 50 hens, there are 46 goats and B camels with some
keepers, If the total number of feet be 224 more than the number of heads in*
the caravan, the number of keepers is (Hotel Management, 1995)
fa) 5 (b) 8 () 10 (d) 15

A certain number of horses and an equal number of men are going somewhers.
Half of the owners are on their horses’ back while the remaining ones are walking
along leading their horses. If the number of legs walking on the ground is 70,
how many horses are there 7 iRailways, 1088)
{z) 10 by 12 el 14 {d) 16

At a farm, there are hens, cows and bullocks, and keepers to look after them.
Tbemaruﬁ&hamhhﬁnnlql, the number of cows iz deuble of that of the
bullocks; the number of eows and hens iz the same and thera is one keeper per
ten hirds and cattle. The total number of hens plus.cows and hullocks and their
keepers does not exeeed 50, How many cows are there 7

{a) 10 by 12 ey 14 {d) 16

i 1 \ ) .
In a certain office, 3 of the workers are mn,.% of the women are married

and ‘% of the married women have children. [f% of the men are married and

-E of the married men have children, what part of workers are without children ?

) 4 11 17
@ 18 (e ) 18 ) 35
In sn examination, & student scores 4 marks for every correct answer and loses
1 mark for every wrong answer. If he attempts all 756 gquestions and secures
125 marks, the number of questions he attempts correctly, is
(e} 35 (b) 40 (ch 42 (d) 48

Directions (Questions 28 to 32} 1 The following guestions are based on

the information given below : (Hotel Mansgement, 1987)

Data on 450 eandidates, who took an examination in Social Sciences, Mathematics

and Science iz given below :

Passed in all the subjects 167
Failed in all the subjects &)
Failed in Social Sciences 175
Failed in Mathematics AS9
Failed in Science 191
Passed in Social Sciences only 62
Passed in Mathematics only 48

Passed in Science only 52
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Reasoning
How many failed in Social Seiences only 7

ia) 16 by 21 le) 30 {d) 42
How many failed in one subject only ?

(a) 152 () 144 () 61 id) 56
How many passed in Mathematics and at least one more subject 7

(e} 210 (b) 203 (e} 170 {d) 84
How many failed in two subjects only 7

{a) 66 {b) 61 (e) 152 id) 162
How many passed at least in one subject ?

{a) 480 . (b) 390 (e} 304 (d) 187

A is three times a8 old as B. C was twice as old as A four years ago. In four

years' time, A will be 31. What is the present age of B and C ?

{a) 9, 46 (k) 8, 50 (e} 10, 46 {d) 10, 50
(Assistant Grade, 1987)

A father tells his son, 1 was of your present age when you were born.™ If the

father is 36 now, howold was the boy 5 years back 7 (Hailways, 1984)

(a) 13 {b) 15 (e} 17 (d) 20

In a family, & couple has a son and & daughter. The age of the father is three

times that of his daughter and the age of the son is half" of his mother. The

wife is © years younger to her husband and the brother is seven years older

than his zister, What is thejageof the mother 7 {LAB. 1888)
ia) 40 years (b) 45 wemra - (£} B0 vears {d) 60 years
A father is now three times ‘uw éld ay his son Five years back, he was four
times as old as his son. The age of the son is {1.A.8. 1993)
{a) 12 ib) 15 & 15 {c) 18 (d) 20

Ravi's brother iz 3 Years s to him. His father was 28 years of age when
his sister was born while bitrmbther was 26 years of age when he was born. If
his sister was 4 years of age when his brother was born, what was the age of
Ravi's father and mother respectively when his brother was born ?

{a) 32 vears, 24 vears {b) 32 years, 29 years
{c) 35 years, 29 years . {d) 35 years, 33 years
{(Hotel Management, 1985)

When Rahul was born, his father was 32 years clder than his brother and his
mother was 25 years older than his sister. If Rahul's brother is 6 years older
than him and his mother is 3 vears younger than his father, how old was Rehul's
gister when he waz born {Hotel Management, 1997)
{a) 7 years (b} 10 years {c) 14 years (d) 19 years
In a town, 65% people watched the news on television, 40% read a newspaper
and 26% read s newspaper and watched the news on television also. What
percent of the people neither watched the news on television nor read a news-
paper 7
@) s {B) 10 {c) 15 {d} 20
In a group of 15 people, 7 read French, B read English while 3 of them read
nene of these two. How many of them read French and English both ?
(a) 0 () 3 {e) 4 {d) 5

(L Tax & Central Excise, 1985)
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41. There are 50 students admitted to a nursery class. Some students can speak
only Englith and some ean speak only Hindi. Ten students can speak both
English and Hindi. If the number of students who can speak English is 21, then
how many students can speak Hindi, how many can speak only Hindi and how

many can speak only English ? (LAS. 1998)
la} 39, 20 and 11 respectively (b) 37, 27 and 13 respectively
{e) 28, 18 and 22 respectively () 21, 11 and 29 respectively
42. Consider the Venn diagram given below : (LAE. 1003)
Paper [ Paper 11

(AN

aper 111

The number in the Venn diagram indicates the number of persons residing the
newspapers, The diagram is drawn after surveying 50 persons, In @ population
of 10,000, how many can be expected to read at least two newspapers 7
(m} 5000 () 5400 {e) BOOO {d) B250
43. Out of a total of 120 musicians in a club, 5% can pley all the three instruments
— guitar, violin and flute. It so happens thi®Rie number of musicians who can
play any two and only two of the above ingtrumests is 30. The number of musicians
who can play the guitar alone is 40, Whag isthe total number of those who can
play violin alone or flute alone ? Nt (LAK. 1966)
(a) 30 {byas o {c) 44 (d) 45
Directions (Questions 44 fo 46) : The diagram given below shows the number
of students who got distinction in three subjects out of 5060 students. Study
the diagram carefully and annwer the questions that follow.

Physics
Chemistry Mathematics

44. What is the percentage of students who got distinetion in two subjects 7

(a) 8% ib) 9% (c) 10% (d) 12%
45, What is the percentage of students who got distinction 7

(o) 28% (&) 35% {c) 38% (d) 40%
46. The percentage of students with distinction marks in Mathematics is

(o) 17.8% {b) 18.6% fe) 19.2% (d) 20.6%

Directions (Questions 47 to 49) : Study the information given beloww and
angwer the gquestions that follme :

A publishing firm publishes newspapers A, B and C. In an effort to persuade
advertisers to insert advertisements in these newspapers, the firm sends out the
following statement to possible advertisers :




—
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A survey of representative sample of the whole population shows that —
Newspaper A is read by 26%;
Newspaper B is read by 256%;
Newspaper C is read by 14%;
MNewspaper A and B are read by 11%;
Newspaper B and C are read by 10%;
Newspaper C and A are read by 9%,
Newspaper C only is read by 0%.
47. The percentage of readers who read all the three newspapers is

fa) 1 ib) 4 e} & (d) 6

48, The percentage of readerg who read A and B but not C, is
{a) 2 (b} 4 (e} b d) 6

48, The percentage of readers who read at least one of the three newspapers is.
(a) 40 (b) 5O (c) 60 (d) 65

B0. A number of friends decided to go on a picnic and planned to upmdﬂn—ﬂﬁ\m
eatables. Four of them, however, did not turn up. As a consequence, the remaining
ones had to contribute Rs 4 each extra. The number of those who atiended the
picnic was
(a) B (B) 12 ] lﬂ {d) 24

‘mm
L (eh: ‘All but nine dmd' ‘.ﬁl’a:upi nine died’ e nine sheep remained alive.
2.{a) . “There were all sparrows but si¥’ means that six hirds were not sparrows but only

pigeons and docks, kbedi
Similarly, number of tpm number of docks = 6

and numbernl'm ‘+ number of pigeons =8,
This is possible when there are 3 sparrows, 3 pigeons and 3 docks i.e. 9 birds in all,
3.4a) : Clearly, the smallest such number is 3. D
.;Thuhchmh arranged as shown D
ulnng ﬂﬂe to satisfy all the three given conditiona. [
4. 1ed: Clearly, out of every 16 pcmns. there is one captain.
86, number of captains =W=H
B (2} 1 The seven pieces consiat of 6 smaller squal pieces and one half cake pioca,
Weight of each small piece =205
8o, total weight of the cake = 2 = (20 = &) = 240 g.
8. (d) : Let the number of bananas in the second bunch be x

Then, number of bananas in the first bunch -:l.+-:-x -%:.

Sﬂ.gx-:tﬂ = fGr-dr=12 = x=12.

. Number of bananas in first bunch -:[% i 1‘2]: 15.
7. 161 ; Clearly, total number of handshakes = (3 +B+T+6+5+4+3+2+1)=45.

8. ib): Suppose the boy got x sums right and 2x saums wrong. Then,
x+2x=48 or 3x=48 or r=16
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140. (&) :
1L id}:
12. (k) :

1% (d) :

14. (b} :

15, (B)
16 (a) :

17. 16} :

18. (d}:

18, (c) ;

Let number of girls =x and number of boys = 3x.

Then, 2x + x = 4x = total aumber of students.

Thus, to find exsct value of x, the total number of studenta must be divisible by 4.
Since the number of carbons is 2, only {wo copies can be obtained.

Total number of routes from Bristol to Carlisle = (4 = 3 = 2) = 24,

Let the number of boya be x.

Then, Sx=18 or x=18x3=24

If total number of students is v, then

2 3
,n;y-:iﬁ ar y-ﬂxﬁ--ﬁﬁ.

Mumber of girls in the class = (36 - 24)= 12,
Originally, let the pumber of women =
Then, number of men = 2x.
Bo, in city Y, we have ; \

{2r-10j=(x+5) or xr=15.

~. 'Total number nfm'h the beginning = {x + 2x) = 3x = 45.
Lat total number of members be 100
Then, number of members cwning only 2 cars = 20,
Number of miembers owning 3 cars = 40% of 80 = 32.
Number of members, owning only 1 car = IM m 4!
Thus, 48% of the total members own one par each,
Clearly, number of ways of arranging 5 l:-u-ul‘b Si=Bx 4 x2x1=180,
8o, total time taken = ﬂﬂmmnm Ehuurm.
Clearly, the required number iq such ﬂﬁt it leaves & remainder of 1 when
ﬂivirladhyﬂ.ﬂfﬂrlm.dmummmndpnded by 5. Such a number is 25,
Let the value of the holiday bex.
Then, pay for seven weeks' woﬁ-:i 300 + x,

Sﬁ‘,.i%ﬂilﬂﬂl-:

or E100 de=LF10+Tx or Ax=£990 or £330,
Total runs seored = (36 = 5) » 180,

Let the runs scored by E be x

Runs seored by D =x + 5.

Runs scored by A =x +8.

Runs scored by B =x+x+65=2¢x+ 5.

Runs scored by C = (107 - B} =107 — {2z + 6) = 102 - 2x.
Bo, total runs = (x + 8) + (e 5)+ (102 - 3rj+ x - 5} 42 =3¢ + 120
*3z+120=180 or Ax=80 or x=20.

Thus, runs scored by E =20,

Let money with Ken =x.

Then, money with Mac =x + £3,

Mow, 3x=(r+x+23)+£2 or x=£5

', Total money with Mac and Kin =2~ - [ = £ 13,
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Reasoning
Clearly, we have
J—dU:%A B A-40=J i
A-40=R =+ 40 ITEY)
Solving (i) and (i} aumultanmualy. we get : J =120 and ﬁ 160,
Pumng A= 18D in (i), we get R=80.
- Total money = R+ J + A = Bs (80 + 120 + 160) = Ra 360,
Clearly, we have :
B-3=E i) B+3=D . Aiii)
A+«B=D+E+10 LIS B=C+2 (]
ﬂ*RthD-‘-E:lﬁH LAu)
From (i} and i}, we have : 2B=D+E ]
From liit) and (2f), we have : A=B + 10 L Aif)
Using (i), (vd) and (0ii) in (o), we get ©
B+10)+B=(B-2+2B =133 or 5B=125 or B=25
Clemriy, we have
A=B-34 _Aib D+5=E i)
A+ Cul ] B:DeA4C=1E i)

A+B4CsD+E=I160 bl
From (#il}, i) and io), we get : SE= 150 or E= 30
Putting E =30 i L), we get : [ =036, .
Putting E = 30 and D=25 in {iv}, We get 2 B 385
Putting B = 3500 ), we geb-ii= 38,
Putting A = 32 and E = 30dm i, we get © =128
Lot number of keepers bag
Then, total number of feet =8 50 + 4 x 45+ 4 « 8 + 2r = 2r + 312,
total number of hrs& g dF e+ x = 108« x
Now, (2r 4 am-;mauwtﬂa br =15
Lk nufiher of horkes = number of men =X

Theu.,numhgrnflega 4x duﬁz"p:

So b= or r=14
Let the number of hens, cows, bullocks and keepers be represented by H, C, B and
K respectively.
Then, we have
namber of heads =H+C+B+RK
number of legs  =2H + 4C + 4B + 2K
So, H+ O+ B+ K+ 89=2H+40+4B + 2K

or H+Cs+B+K+69=HH+C+ B+ 2K-2H Ai)
Also, c=32B At
C=H 1714
H+C«+«B= 10K i)
H+C+B+Kz50 dm)

Putting H + C + B= 10K in (), we get :
NK+69=42K-2H or 31IK-2H=69 or ?H=31K -89 A

Putting H+ C+ B= 10K in (0}, we get 11K =50 or K=5
Thus, K=1,'2, 3.0or 4




Arithmetical Rensoning 4m

6. (e}

27. (b} :

28, (n):

2. ic):

Pulting K = 1 or 2, we get negative values of H, which is not possible.
Putting K = 4, we get fractional value of H, which is also not possible
Putting K=3. we get : H» 12,

80. C=H=12,

Let the total number of workers be . Then,

number of women --; gnd number of men n%-

Women having children = 3- of 2‘ of %x = ﬁ :
Men having children = g of % af g;f =§ 3
Workers having children = |ri5 ‘_';}= :E;
Workers having no children = x - ;i; A

a % of all workiers.

Let the number of correct answers be x.
Number of incorrect answers = (75 - =),
dx - {Th= g}zmﬁ or =20 or x-:nlﬂ
Candidates failed in Social Scisrnces only fan i
= (Candidates failed in Bocial Sciences) = tﬂanﬂnwﬁlhd in-all the subjecta

+ Candidates pasted in Scence only Hmﬂﬁuu'imlﬂnﬂulmlyﬁ
= 176 - (B0 = 52 + 4B) = 175 = 160 = 15,
Candidates failed in one subject anly 0 L
= (Total number of candidates) = (Candidates passed in all the subjects

+ Candidatés failed in all the subjects + Candidates passed in one subject only)
= 450 - {167 + 60 + 62+ 48 - B2)
= 450'= mrﬂ

80. (b) ; {Condidates failed in Bcience only = 191 - (62 + 60 + 48) = 21,

1. (d}

8. (b) :

33. (b} :

LMEE- frniled in Social Sciences only = 16
'Gﬁnﬂdnm passed in Maths and at least one more subject = (21 + 16 + 167) = 203,
Gnudﬁll.rs failed in two subjects only
= Candidates passed in one subject only
=62 + 48 + 52 = 162,
Candidates passed at least in one subject
= (Candidates passed in only 1 subject) + (Candidates passed in only 2 subjecta)
+ (Candidates passed in all the subjects)
= (Candidates failed in only 2 subjects) + (Candidates failed in only 1 subject)
+ iCandidates passed in all the subjects)
= 162 + 61 + 167 = 300
Cledrly, we have :
A=3B LAY C-4=3A-4) cdEdd
Also, A+4=31 or A=31-4=27
Putting A =27 in (D), we get : B= 0.
Putting A = 27 in (i}, we get : C =050,
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5. 1d) :

Reasaning

L&t the father's age be x and the son's age be y. Then,
X=y=my or xmly
Now, x =36. S0, 2y =36 or v=18
. Son's present age = 18 years,
8o, son's ape 5 years ago = 13 years,
Lat the davghter's age be . Then, father's age = 3x.
Mother's age = dr - 9; Son's age s x + 7.
B

8o, b T == o GralduBr-9 or £uil

a6, (b) :

87. () !

38. (b}

40. () :

4L. (a):

2

- Mother's age = (3 - ) = (69 - ) = 60 years.
Let son's age be x. Then, father's age = 3x.
Five years ago, father's age =3z — & and son's age =x - 5.
Bo, x-5=4(z-56) or Ix-6=dr-2 or x=15
When Ravi's brother was barn,

t Ravi's father's age =& and mother's age =y.

Then, sister's age =x-28=4 fe. z=32.
Rayi's age =y -~ 26,

Age of Ravi's brother =y -26 + 3=y - 23, .
Now, when Rawi's brother was born, his age = 0. ie. y-.ﬂ-ﬂ n:r,;-—ﬁ
When Rahul was born,

h]nhwthu’img!m "

his father's age = (B + 3dyyearsi 35 years;

his mother's age =(88 —3) years = 36 years;

his sister’s age = (35 - 25)'vears = 10 years.

. Let the total number of peaple be 100, X Y
htmﬂuanlmkihmﬁpd °
television and ¥ wlbﬁ*whnmd

newEpaper.
T‘hﬁ,ﬁ-r,B-ﬁﬁ. l*ﬂ-lﬂ, B = 25.
Sﬂvﬂﬁf% tA=40, B=25, C=14
'Hunﬂnr [ persona who neither watched television nor read newspaper
=100 -(A+ B+ C)= 100 - (40 + 25 + 15)
; = 100 - B0 = 20.
o, required percentage = 20%,

Lot circles F and E represent people who

read French and English respectively, F E
Now, (P+Q+R)+53=15 or P+Q+R=12 .. e
Also, P+Q=7, Q+R=8.

a

Adding, we get : P+2Q + R=15 oMY

Subtrapeting (i) from (£, we get Q= 3.

~, Number of people who read French and English both = 3.

Let eircles E and H represent students who
can speak English and Hindi respoctively.
Number of students who can speak hoth
English and Hindi =Y = 10.
Mumber of students who can speak

nglish =X +¥=21,

QY
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